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ZmoQ> / NOTE : 
(i) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 9 + 1 _mZ{MÌ h¢ & 
 Please check that this question paper contains 9 printed pages +1 Map. 

(ii) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS> H$mo narjmWu CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 

(iii) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >13 àíZ h¢ & 
 Please check that this question paper contains 13 questions. 

(iv) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ Adí` 
{bI| & 

 Please write down the serial number of the question in the 
answer-book before attempting it. 

(v) Bg  àíZ-nÌ  15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-
10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-
Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 
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: 

: 

(i)  

13 

(ii) 1 5 2 

40 

(iii) 6 8 3

80 

(iv) 9 10 5 

120 

(v) 11 12 4 

(vi) 13 3 

13  1 13  2 

(vii) 

(viii) 

IÊS> H$  

                   (A{V bKw-CÎmar` àíZ) (5 2=10) 

1. ? 
ñnîQ> H$s{OE & 2 

2. Xoe _| n[adhZ Ho$ gmYZ Ho$ ê$n _| nmBnbmBZ Ho$ _hÎd H$s naI H$s{OE &  2 

3. ? ñnîQ> H$s{OE &  2 

4. _m±J O_m  {H$g àH$ma _wÐm H$m _hÎdnyU© bjU h¡ ? 2 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) This question paper comprises five sections  Sections A, B, C, D and E. 
There are 13 questions in the question paper. All questions are compulsory.  

(ii) Section A  Questions no. 1 to 5 are very short answer type questions, carrying 
2 marks each. Answer to each question should not exceed 40 words.  

(iii) Section B  Questions no. 6 to 8 are short answer type questions, carrying  
3 marks each. Answer to each question should not exceed 80 words. 

(iv) Section C  Questions no. 9 and 10 are long answer type questions, carrying  
5 marks each. Answer to each question should not exceed 120 words. 

(v) Section D  Questions no. 11 and 12 are case-based questions, carrying  
4 marks each.  

(vi) Section E  Question no. 13 is map-based, carrying 3 marks with two parts, 
13(a) from History (1 mark) and 13(b) from Geography (2 marks). 

(vii) There is no overall choice in the question paper. However, an internal choice 
has been provided in few questions. Only one of the choices in such questions 
have to be attempted.  

(viii) Attach map along with your answer-book.    

SECTION A 
 (Very Short Answer Type Questions) (5 2=10) 

1. Why did Indian merchants and industrialists support the Civil 
Disobedience Movement ? Explain.  2 

2. Examine the significance of pipeline as a means of transportation in the 
country.   2 

3. Why has India adopted a multi-party system ? Explain.  2 

4. How is an essential feature of money ? 2 
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5. {XE JE àdmh-MmQ>© H$m AÜ``Z H$s{OE Am¡a CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma {b{IE :  

aoem CËnmXZ YwZmB© H$VmB© ~wZmB© a§JmB© d
n[aîH$aU dñÌ {d{Z_m©U

aoem   dñÌ (Jm_]Q>)gyV
 

(5.1) dñÌ {d{Z_m©U Ho$ {bE Amdí`H$ AmYma ŷV gm_J«r H$m¡Z-gr h¡ ?  1 

(5.2) dñÌ CÚmoJ _| _yë` g§dY©Z H$m EH$ CXmhaU Xr{OE & 1 

IÊS> I  
                     (bKw-CÎmar` àíZ) (3 3=9) 

6. (H$) G U Ho$ Am¡nMm[aH$ Am¡a AZm¡nMm[aH$ òmoVm| _| A§Va ñnîQ> H$s{OE & 3 

     AWdm 
(I) ~¢H$, {dÎmr` àUmbr Ho$ EH$ _yb KQ>H$ Ho$ ê$n _| {H$g àH$ma H$m ©̀ H$aVm h¡ ? ñnîQ> 

H$s{OE & 3 

7. AnZr amîQ´>r` nhMmZ H$mo Ty>± AVrV _| Jm¡ad H$m ^md n¡Xm H$aZo Ho$ {bE 
bmoH$ na§namAm| H$mo ~Mm H$a aIZm µOê$ar Wm &  ^maV Ho$ g§X ©̂ _| Bg H$WZ H$s nw{îQ> 
H$s{OE &  3 

8. ^maV _| amOZr{VH$ Xbm| Ho$ n§OrH$aU Am¡a _mÝ`Vm  _| MwZmd Am`moJ H$s ŷ{_H$m H$mo ñnîQ>> 
H$s{OE & 3 

IÊS> J  
                     (XrK©-CÎmar` àíZ) (2 5=10) 

9. (H$) bmoH$V§Ì emgZ, AÝ` ì`dñWmAm| ({dH$ënm|) go ~ohVa h¡ &  Bg H$WZ H$m 
{díbofU H$s{OE &  5 

  AWdm 
(I) gmar Xþ{Z`m _| bmoH$V§Ì Ho$ {dMma Ho$ {bE ^mar g_W©Z Ho$ H$maUm| H$m {díbofU 

H$s{OE & 5 

10. (H$) CZ H$maH$m| H$s naI H$s{OE Omo ^maV _| d¡ídrH$aU H$mo àmoËgm{hV H$aZo _| `moJXmZ 
XoVo h¢ & 5 

 AWdm 
 (I) _yë`m§H$Z H$s{OE {H$ {H$g àH$ma d¡ídrH$aU Zo ì`mnH$ g_mO Ho$ OrdZ H$mo à^m{dV 

{H$`m h¡ &  5 
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5. Study the given flowchart and answer the questions that follow : 

 

(5.1) Which is the basic material required for garment manufacturing ? 1 

(5.2) Give one example of value addition in the textile industry.  1 

SECTION B 
 (Short-Answer Type Questions) (3 3=9) 

6. (a) Differentiate between formal and informal sources of Credit.  3 
 OR 

(b) How does a bank work as a key component of the financial  
system ? Explain.  3 

7. to 
national identit
statement in reference to India. 3 

8. Explain the role of Election Commission in the registration and 
recognition  of political parties in India.  3 

SECTION C 
 (Long-Answer Type Questions) (2 5=10) 
9. (a) 

 5 
 OR 
 (b) Analyse the reasons for the overwhelming support for the idea of 

democracy all over the world.  5 

10. (a) Examine the factors which facilitate globalization in India.  5 

 OR 

(b) Assess, how globalization has touched the lives of larger society. 5 

Garments 

Dyeing and 
Finishing 
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IÊS> K  
                 (Ho$g-AmYm[aV àíZ) (2 4=8) 
11. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$ :  4 

        ñdV§ÌVm {Xdg H$s enW, 26 OZdar, 1930 

h_mam {dídmg h¡ {H$ {H$gr ^r g_mO H$s Vah ^maVr` OZVm H$m ^r `h EH$ AhaUr` 
(inalienable) A{YH$ma h¡ {H$ CÝh| AmµOmXr {_bo, AnZr _ohZV H$m \$b {_bo Am¡a OrdZ 

^r {dídmg h¡ {H$ `{X H$moB© ^r gaH$ma AnZr OZVm H$mo BZ A{YH$mam| go d§{MV aIVr h¡ 
Am¡a X~mVr h¡ Vmo OZVm H$mo ^r gaH$ma H$mo ~XbZo `m Cgo g_yb g_má H$aZo H$m A{YH$ma 
h¡ & ^maV _| {~«{Q>e ({~«VmZr) gaH$ma Zo Z Ho$db ^maVr` OZVm H$mo ñdV§ÌVm go d§{MV 
{H$`m h¡ ~pëH$ CgZo OZVm H$m emofU {H$`m h¡ Am¡a Xoe H$mo Am{W©H$, amOZr{VH$, 
gm§ñH¥${VH$ Ed§ AmÜ`mpË_H$ ñVa na Zï> H$a {X`m h¡ & Bg{bE h_mam {dídmg h¡ {H$ ^maV 
H$mo A{Zdm ©̀ ê$n go {~«Q>oZ Ho$ gmW AnZo g^r g§~§Ym| H$mo g_má H$aHo$ nyU© ñdamO àmá 
H$aZm Mm{hE &   
(11.1) ? 1 

(11.2) ^maV Ho$ bmoJm| Ûmam nyU© ñdamO H$mo Amdí`H$ ? 1 
(11.3) H$m±J«og Ho$ bmhm¡a A{YdoeZ (1930) Ho$ _hÎd H$s ì`m»`m H$s{OE & 2 

12. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$ : 4 

     amï´>r` AW©ì`dñWm H$s OrdZ aoImE±  

~hþV g_` VH$ ì`mnma VWm n[adhZ gw{dYm EH$ gr{_V joÌ VH$ hr {H$`m OmVm  
Wm & {dkmZ VWm àm¡Úmo{JH$s Ho$ {dH$mg Ho$ gmW ì`mnma d n[adhZ Ho$ à^md joÌ _| {dñV¥V 

©V hmo 
J`m h¡ & n[adhZ H$m `h {dH$mg g§Mma gmYZm| Ho$ {dH$mg H$s ghm`Vm go hr g§̂ d hmo gH$m 
h¡ & Bgr{bE n[adhZ, g§Mma d ì`mnma EH$-Xÿgao Ho$ nyaH$ h¢ &  

AmO ^maV AnZo {demb AmH$ma, {d{dYVmAm|, ^mfmB© VWm gm_m{OH$ d gm§ñH¥${VH$ 
~hþbVmAm| Ho$ ~mdOyX g§gma Ho$ g^r joÌm| go gwMmé  Ed§ 
Ob n[adhZ, g_mMma-nÌ, ao{S>`mo, XÿaXe©Z, {gZo_m VWm B§Q>aZoQ>, Am{X BgHo$  
gm_m{OH$-Am{W©H$ {dH$mg _| AZoH$ àH$ma go ghm`H$ h¢ & ñWm{ZH$ go A§Vam©ï´>r` ñVar` 
ì`mnma Zo AW©ì`dñWm H$mo OrdZ e{º$ Xr h¡ & BgZo h_mao OrdZ H$mo g_¥Õ {H$`m h¡ VWm 
Amam_Xm`H$ OrdZ Ho$ {bE gw{dYmAm| d gmY  

(12.1) n[adhZ Ho$ {dH$mg _| {dkmZ {H$g àH$ma EH$ _hÎdnyU© H$maH$ h¡ ? 1 
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SECTION D 
 (Case-based questions) (2 4=8) 

11. Read the case given below carefully and answer the questions that follow : 4 

The Independence Day Pledge, 26 January, 1930 

 
other people, to have freedom and to enjoy the fruits of their toil and have 
the necessities of life, so that they may have full opportunities of growth. 
We believe also that if any government deprives a people of these rights 
and oppresses them, the people have a further right to alter it or to 
abolish it. The British Government in India has not only deprived the 
Indian people of their freedom but has based itself on the exploitation of 
the masses, and has ruined India economically, politically, culturally, and 
spiritually. We believe, therefore, that India must sever the British 

 

(11.1) Why was freedom considered an inalienable right of the Indian 
people ? 1 

(11.2) Why was Purna Swaraj considered essential by the people of  
India ?  1 

(11.3) Explain the significance of the Lahore Session of Congress (1930).  2 

 
12. Read the case given below carefully and answer the questions that follow : 4 

Lifelines of National Economy  
 For a long time, trade and transport were restricted to a limited space. 

With the development in science and technology, the area of influence of 
trade and transport expanded far and wide. Today, the world has been 
converted into a large village with the help of efficient and fast moving 
transport. Transport has been able to achieve this with the help of 
equally developed communication system. Therefore, transport, 
communication and trade are complementary to each other.  

 Today, India is well-linked with the rest of the world despite its vast size, 
diversity and linguistic and socio-cultural plurality. Railways, airways, 
waterways, newspapers, radio, television, cinema and internet, etc. have 
been contributing to its socio-economic progress in many ways. The 
trades from local to international levels have added to the vitality of its 
economy. It has enriched our life and added substantially to growing 
amenities and facilities for the comforts of life.  

(12.1) How is science an important factor in the development of  
transport ? 1 
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(12.2) gm_m{OH$ d gm§ñH¥${VH$ ~hþbVm H$mo n[adhZ {H$g àH$ma EH$sH¥$V H$aVm h¡ ? 

ñnîQ> H$s{OE & 1 

(12.3) {H$gr amîQ>́> Ho$ {bE g§Mma Ho$ _hÎd H$m {díbofU H$s{OE & 2 

IÊS> L>  

                 (_mZ{MÌ-AmYm[aV àíZ) (1+2=3) 

13. (i) {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 11 na), _| {ZåZ{b{IV OmZH$mar 
H$s ghm`Vm go A  
ItMr JB© aoIm na CgH$m ghr Zm_ {b{IE &  

A. dh ñWmZ Ohm± qhgm Ho$ H$maU Agh`moJ Am§XmobZ H$mo dm{ng {b`m J`m & 1 

(ii) {XE JE ^maV Ho$ Bgr aoIm-_mZ{MÌ na {ZåZ{b{IV H$mo A§{H$V H$s{OE Am¡a CZHo$ 
Zm_ {b{IE & 

(H$) (I) Zamoam na_mUw D$Om© g§ §̀Ì 1 
                                               AWdm 

 (II) ~|Jbwé  1 

(I) B§{Xam Jm±Yr AÝVam©îQ>́r` hdmB© nÎmZ  1 

 

: 13
 3  1=3

(13.1) Cg amÁ` H$m Zm_ {b{IE Ohm± 1927 _| ^maVr` amîQ́>r` H$m±J«og H$m A{YdoeZ 
hþAm & 1 

(13.2)  (H$) Cg amÁ` H$m Zm_ {b{IE Ohm± Zamoam na_mUw D$Om© g§̀ §Ì pñWV h¡ & 1 

 AWdm 

 (I) Cg amÁ` H$m Zm_ {b{IE Ohm± ~|Jbwé  1 

(13.3) Cg eha H$m Zm_ {b{IE Ohm± B§{Xam Jm±Yr A§Vam©îQ´>r` hdmB© nÎmZ pñWV h¡ &  1 
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(12.2) How has transport integrated socio-cultural plurality ? Explain.  1 

(12.3) Analyse the significance of communication for a nation.  2 

SECTION E 

 (Map-Based Question) (1+2=3) 

13. (i) On the given political outline map of India (on page 11), identify 

the place marked as A  with the help of the following information 

and write its correct name on the line marked near it. 

A. The place where Non-Cooperation Movement was called off 

due to violence. 1 

(ii) On the same given map of India, locate and label the following : 

(a) (I) Narora Nuclear Power Plant  1 

                                                         OR 

 (II) Bengaluru Software Technology Park  1 

(b) Indira Gandhi International Airport  1 

Note :  The following questions are for the Visually Impaired Candidates 
only, in lieu of Q. No. 13. 3 1=3 

(13.1) Name the State where the session of Indian National Congress 
was held in 1927.  1 

(13.2) (a) Name the State where Narora Nuclear Power Plant is 
located.  1 

 OR 

 (b) Name the State where Bengaluru Software Technology Park 
is located. 1  

(13.3) Name the city where Indira Gandhi International Airport is 
located.  1 
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àíZ g§. 13 Ho$ {bE  For question no. 13 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 

 

A 
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narjmWu àíZ-nÌ H$moS> >H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð >na Adí` {bIo§ & 
Candidates must write the Q.P. Code 
on the title page of the answer-book. 

 Series AQQPP/1  SET~2 

  àíZ-nÌ H$moS>       
amob Z§. Q.P. Code  

Roll No. 
 
 

 
 

ZmoQ> / NOTE : 
(i) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 9 + 1 _mZ{MÌ h¢ & 
 Please check that this question paper contains 9 printed pages +1 Map. 

(ii) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS> H$mo narjmWu CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 

(iii) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >13 àíZ h¢ & 
 Please check that this question paper contains 13 questions. 

(iv) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ Adí` 
{bI| & 

 Please write down the serial number of the question in the 
answer-book before attempting it. 

(v) Bg  àíZ-nÌ  15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-
10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-
Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 

 

gm_m{OH$ {dkmZ  
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: 2 : 40 
Time allowed : 2 hours Maximum Marks : 40 
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: 

: 

(i)  

13 

(ii) 1 5 2 

40 

(iii) 6 8 3

80 

(iv) 9 10 5 

120 

(v) 11 12 4 

(vi) 13 3 

13  1 13  2 

(vii) 

(viii) 

IÊS> H$  

                   (A{V bKw-CÎmar` àíZ) (5 2=10) 

1. ? ñnîQ> H$s{OE &  2 

2. hdmB© n[adhZ Ho$ _hÎd H$m narjU H$s{OE & 2 

3. amOZr{VH$ Xb {H$g àH$ma OZ_V H$mo AmH$ma XoVo h¢ ? 2 

4. ^maVr` ì`m ? 

ñnîQ> H$s{OE & 2 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) This question paper comprises five sections  Sections A, B, C, D and E. 
There are 13 questions in the question paper. All questions are compulsory.  

(ii) Section A  Questions no. 1 to 5 are very short answer type questions, carrying 
2 marks each. Answer to each question should not exceed 40 words.  

(iii) Section B  Questions no. 6 to 8 are short answer type questions, carrying  
3 marks each. Answer to each question should not exceed 80 words. 

(iv) Section C  Questions no. 9 and 10 are long answer type questions, carrying  
5 marks each. Answer to each question should not exceed 120 words. 

(v) Section D  Questions no. 11 and 12 are case-based questions, carrying  
4 marks each.  

(vi) Section E  Question no. 13 is map-based, carrying 3 marks with two parts, 
13(a) from History (1 mark) and 13(b) from Geography (2 marks). 

(vii) There is no overall choice in the question paper. However, an internal choice 
has been provided in few questions. Only one of the choices in such questions 
have to be attempted.  

(viii) Attach map along with your answer-book.    

SECTION A 
 (Very Short Answer Type Questions) (5 2=10) 

1. Why has India adopted a multi-party system ? Explain.  2 

2. Examine the significance of air transport.  2 

3. How do political parties shape public opinion ?   2 

4. Why did Indian merchants and industrialists support the Civil 
Disobedience Movement ? Explain.  2 
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5. {XE JE àdmh-MmQ>© H$m AÜ``Z H$s{OE Am¡a CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma {b{IE :  

aoem CËnmXZ YwZmB© H$VmB© ~wZmB© a§JmB© d
n[aîH$aU dñÌ {d{Z_m©U

aoem   dñÌ (Jm_]Q>)gyV
 

(5.1) dñÌ {d{Z_m©U Ho$ {bE Amdí`H$ AmYma ŷV gm_J«r H$m¡Z-gr h¡ ?  1 

(5.2) dñÌ CÚmoJ _| _yë` g§dY©Z H$m EH$ CXmhaU Xr{OE & 1 

IÊS> I  
                     (bKw-CÎmar` àíZ) (3 3=9) 

6. 
bmoH$ na§namAm| H$mo ~Mm H$a aIZm µOê$ar Wm &  ^maV Ho$ g§X ©̂ _| Bg H$WZ H$s nw{îQ> 
H$s{OE &  3 

7. (H$) G U Ho$ Am¡nMm[aH$ Am¡a AZm¡nMm[aH$ òmoVm| _| A§Va ñnîQ> H$s{OE & 3 

     AWdm 
(I) ~¢H$, {dÎmr` àUmbr Ho$ EH$ _yb KQ>H$ Ho$ ê$n _| {H$g àH$ma H$m ©̀ H$aVm h¡ ? ñnîQ> 

H$s{OE & 3 

8. EH$-Xbr` ì`dñWm  H$s {H$Ýht VrZ {deofVmAm| H$mo ñnîQ> H$s{OE &   3 

IÊS> J  
                     (XrK©-CÎmar` àíZ) (2 5=10) 

9. (H$) bmoH$V§Ì emgZ, AÝ` ì`dñWmAm| ({dH$ënm|) go ~ohVa h¡ &  Bg H$WZ H$m 
{díbofU H$s{OE &  5 

  AWdm 

(I) gmar Xþ{Z`m _| bmoH$V§Ì Ho$ {dMma Ho$ {bE ^mar g_W©Z Ho$ H$maUm| H$m {díbofU 
H$s{OE & 5 

10. (H$) {dXoer ì`mnma Am¡a ~mµOmam| Ho$ EH$sH$aU Ho$ g§X ©̂ _| d¡ídrH$aU H$m _yë`m§H$Z 
H$s{OE & 5 

 AWdm 

(I) 
EH$ à_wI e{º$ ahr h¢ &  Bg H$WZ H$mo Ý`m`g§JV R>hamBE &  5 
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5. Study the given flowchart and answer the questions that follow : 

 

(5.1) Which is the basic material required for garment manufacturing ? 1 

(5.2) Give one example of value addition in the textile industry.  1 

SECTION B 
 (Short-Answer Type Questions) (3 3=9) 

6. 

statement in reference to India. 3 

7. (a) Differentiate between formal and informal sources of Credit.  3 
 OR 

(b) How does a bank work as a key component of the financial  
system ? Explain.  3 

8. -  3 

SECTION C 
 (Long-Answer Type Questions) (2 5=10) 

9. (a) emocracy is a better form of government than any other 
 5 

 OR 
 (b) Analyse the reasons for the overwhelming support for the idea of 

democracy all over the world.  5 

10. (a) Assess globalisation in terms of foreign trade and integration of 
markets.  5 

       OR 

(b) 
 5 

Garments 

Dyeing and 
Finishing 
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IÊS> K  
                 (Ho$g-AmYm[aV àíZ) (2 4=8) 

11. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$ : 4 

     amï´>r` AW©ì`dñWm H$s OrdZ aoImE±  

~hþV g_` VH$ ì`mnma VWm n[adhZ gw{dYm EH$ gr{_V joÌ VH$ hr {H$`m OmVm  
Wm & {dkmZ VWm àm¡Úmo{JH$s Ho$ {dH$mg Ho$ gmW ì`mnma d n[adhZ Ho$ à^md joÌ _| {dñV¥V 

J`m h¡ & n[adhZ H$m `h {dH$mg g§Mma gmYZm| Ho$ {dH$mg H$s ghm`Vm go hr g§̂ d hmo gH$m 
h¡ & Bgr{bE n[adhZ, g§Mma d ì`mnma EH$-Xÿgao Ho$ nyaH$ h¢ &  

AmO ^maV AnZo {demb AmH$ma, {d{dYVmAm|, ^mfmB© VWm gm_m{OH$ d gm§ñH¥${VH$ 

Ob n[adhZ, g_mMma-nÌ, ao{S>`mo, XÿaXe©Z, {gZo_m VWm B§Q>aZoQ>, Am{X BgHo$  
gm_m{OH$-Am{W©H$ {dH$mg _| AZoH$ àH$ma go ghm`H$ h¢ & ñWm{ZH$ go A§Vam©ï>́r` ñVar` 
ì`mnma Zo AW©ì`dñWm H$mo OrdZ e{º$ Xr h¡ & BgZo h_mao OrdZ H$mo g_¥Õ {H$`m h¡ VWm 

 

(11.1) n[adhZ Ho$ {dH$mg _| {dkmZ {H$g àH$ma EH$ _hÎdnyU© H$maH$ h¡ ? 1 

(11.2) gm_m{OH$ d gm§ñH¥${VH$ ~hþbVm H$mo n[adhZ {H$g àH$ma EH$sH¥$V H$aVm h¡ ? 
ñnîQ> H$s{OE & 1 

(11.3) {H$gr amîQ́>> Ho$ {bE g§Mma Ho$ _hÎd H$m {díbofU H$s{OE & 2 

12. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$ IE :  4 
        ñdV§ÌVm {Xdg H$s enW, 26 OZdar, 1930 

h_mam {dídmg h¡ {H$ {H$gr ^r g_mO H$s Vah ^maVr` OZVm H$m ^r `h EH$ AhaUr` 
(inalienable) A{YH$ma h¡ {H$ CÝh| AmµOmXr {_bo, AnZr _ohZV H$m \$b {_bo Am¡a OrdZ 
H$s g^r Amdí`H$VmE± nyar hm| {Oggo CÝh| AmJo 
^r {dídmg h¡ {H$ `{X H$moB© ^r gaH$ma AnZr OZVm H$mo BZ A{YH$mam| go d§{MV aIVr h¡ 
Am¡a X~mVr h¡ Vmo OZVm H$mo ^r gaH$ma H$mo ~XbZo `m Cgo g_yb g_má H$aZo H$m A{YH$ma 
h¡ & ^maV _| {~«{Q>e ({~«VmZr) gaH$ma Zo Z Ho$db ^maVr` OZVm H$mo ñdV§ÌVm go d§{MV 
{H$`m h¡ ~pëH$ CgZo OZVm H$m emofU {H$`m h¡ Am¡a Xoe H$mo Am{W©H$, amOZr{VH$, 
gm§ñH¥${VH$ Ed§ AmÜ`mpË_H$ ñVa na Zï> H$a {X`m h¡ & Bg{bE h_mam {dídmg h¡ {H$ ^maV 
H$mo A{Zdm ©̀ ê$n go {~«Q>oZ Ho$ gmW AnZo g^r g§~§Ym| H$mo g_má H$aHo$ nyU© ñdamO àmá 
H$aZm Mm{hE &   
(12.1) ? 1 
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SECTION D 
 (Case-based questions) (2 4=8) 

11. Read the case given below carefully and answer the questions that follow : 4 

Lifelines of National Economy  
 For a long time, trade and transport were restricted to a limited space. 

With the development in science and technology, the area of influence of 
trade and transport expanded far and wide. Today, the world has been 
converted into a large village with the help of efficient and fast moving 
transport. Transport has been able to achieve this with the help of 
equally developed communication system. Therefore, transport, 
communication and trade are complementary to each other.  

 Today, India is well-linked with the rest of the world despite its vast size, 
diversity and linguistic and socio-cultural plurality. Railways, airways, 
waterways, newspapers, radio, television, cinema and internet, etc. have 
been contributing to its socio-economic progress in many ways. The 
trades from local to international levels have added to the vitality of its 
economy. It has enriched our life and added substantially to growing 
amenities and facilities for the comforts of life.  

(11.1) How is science an important factor in the development of  
transport ? 1 

(11.2) How has transport integrated socio-cultural plurality ? Explain.  1 

(11.3) Analyse the significance of communication for a nation.  2 

12. Read the case given below carefully and answer the questions that follow : 4 

The Independence Day Pledge, 26 January, 1930 

 
other people, to have freedom and to enjoy the fruits of their toil and have 
the necessities of life, so that they may have full opportunities of growth. 
We believe also that if any government deprives a people of these rights 
and oppresses them, the people have a further right to alter it or to 
abolish it. The British Government in India has not only deprived the 
Indian people of their freedom but has based itself on the exploitation of 
the masses, and has ruined India economically, politically, culturally, and 
spiritually. We believe, therefore, that India must sever the British 
connection and attain Purna Swaraj or Complete Independenc  

(12.1) Why was freedom considered an inalienable right of the Indian 
people ? 1 
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(12.2) ? 1 

(12.3) H$m±J«og Ho$ bmhm¡a A{YdoeZ (1930) Ho$ _hÎd H$s ì`m»`m H$s{OE & 2 

IÊS> L>  

             (_mZ{MÌ-AmYm[aV àíZ) (1+2=3) 

13. (i) {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 11 na), _| {ZåZ{b{IV OmZH$mar 
H$s ghm`Vm go 
ItMr JB© aoIm na CgH$m ghr Zm_ {b{IE &  

A. dh ñWmZ Ohm± qhgm Ho$ H$maU Agh`moJ Am§XmobZ H$mo dm{ng {b`m J`m & 1 

(ii) {XE JE ^maV Ho$ Bgr aoIm-_mZ{MÌ na {ZåZ{b{IV H$mo A§{H$V H$s{OE Am¡a CZHo$ 
Zm_ {b{IE & 

(H$) (I) Zamoam na_mUw D$Om© g§ §̀Ì 1 
                                               AWdm 

 (II)  1 

(I) B§{Xam Jm±Yr AÝVam©îQ>́r` hdmB© nÎmZ  1 

 

: 13

 3  1=3

(13.1) Cg amÁ` H$m Zm_ {b{IE Ohm± 1927 _| ^maVr` amîQ́>r` H$m±J«og H$m A{YdoeZ 
hþAm & 1 

(13.2)  (H$) Cg amÁ` H$m Zm_ {b{IE Ohm± Zamoam na_mUw D$Om© g§̀ §Ì pñWV h¡ & 1 

 AWdm 

 (I)  1 

(13.3) Cg eha H$m Zm_ {b{IE Ohm± B§{Xam Jm±Yr A§Vam©îQ>́r` hdmB© nÎmZ pñWV h¡ &  1 
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(12.2) Why was Purna Swaraj considered essential by the people of  
India ?  1 

(12.3) Explain the significance of the Lahore Session of Congress (1930).  2 

SECTION E 

 (Map-Based Question) (1+2=3) 

13. (i) On the given political outline map of India (on page 11), identify 

the place marked as A  with the help of the following information 

and write its correct name on the line marked near it. 

A. The place where Non-Cooperation Movement was called off 

due to violence. 1 

(ii) On the same given map of India, locate and label the following : 

(a) (I) Narora Nuclear Power Plant  1 

                                                           OR 

 (II) Bengaluru Software Technology Park  1 

(b) Indira Gandhi International Airport  1 

Note :  The following questions are for the Visually Impaired Candidates 
only, in lieu of Q. No. 13. 3 1=3 

(13.1) Name the State where the session of Indian National Congress 
was held in 1927.  1 

(13.2) (a) Name the State where Narora Nuclear Power Plant is 
located.  1 

 OR 

 (b) Name the State where Bengaluru Software Technology Park 
is located. 1  

(13.3) Name the city where Indira Gandhi International Airport is 
located.  1 
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àíZ g§. 13 Ho$ {bE  For question no. 13 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 

 

A 
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narjmWu àíZ-nÌ H$moS> >H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð >na Adí` {bIo§ & 
Candidates must write the Q.P. Code 
on the title page of the answer-book. 

 Series AQQPP/1  SET~3 

  àíZ-nÌ H$moS>       
amob Z§. Q.P. Code  

Roll No. 
 
 

 
 

ZmoQ> / NOTE : 
(i) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 9 + 1 _mZ{MÌ h¢ & 
 Please check that this question paper contains 9 printed pages +1 Map. 

(ii) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS> H$mo narjmWu CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 

(iii) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >13 àíZ h¢ & 
 Please check that this question paper contains 13 questions. 

(iv) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ Adí` 
{bI| & 

 Please write down the serial number of the question in the 
answer-book before attempting it. 

(v) Bg  àíZ-nÌ  15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-
10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-
Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 
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: 

: 

(i)  

13 

(ii) 1 5 2 

40 

(iii) 6 8 3

80 

(iv) 9 10 5 

120 

(v) 11 12 4 

(vi) 13 3 

13  1 13  2 

(vii) 

(viii) 

IÊS> H$  

                   (A{V bKw-CÎmar` àíZ) (5 2=10) 

1. ? 

ñnîQ> H$s{OE & 2 

2. n[adhZ Ho$ gmYZ Ho$ ê$n _| aobdo Ho$ _hÎd H$m Xmo VH$m] go naI H$s{OE & 2 

3. bmoH$V§Ì H$s JwUdÎmm OZ ^mJrXmar H$s _mÌm na {H$g àH$ma {Z ©̂a h¡ ? 2 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) This question paper comprises five sections  Sections A, B, C, D and E. 
There are 13 questions in the question paper. All questions are compulsory.  

(ii) Section A  Questions no. 1 to 5 are very short answer type questions, carrying 
2 marks each. Answer to each question should not exceed 40 words.  

(iii) Section B  Questions no. 6 to 8 are short answer type questions, carrying  
3 marks each. Answer to each question should not exceed 80 words. 

(iv) Section C  Questions no. 9 and 10 are long answer type questions, carrying  
5 marks each. Answer to each question should not exceed 120 words. 

(v) Section D  Questions no. 11 and 12 are case-based questions, carrying  
4 marks each.  

(vi) Section E  Question no. 13 is map-based, carrying 3 marks with two parts, 
13(a) from History (1 mark) and 13(b) from Geography (2 marks). 

(vii) There is no overall choice in the question paper. However, an internal choice 
has been provided in few questions. Only one of the choices in such questions 
have to be attempted.  

(viii) Attach map along with your answer-book.    

SECTION A 

 (Very Short Answer Type Questions) (5 2=10) 

1. Why did Indian merchants and industrialists support the Civil 
Disobedience Movement ? Explain.  2 

2. Examine the significance of railways as a means of transport, with two 
arguments.   2 

3. How does the quality of democracy depend on the degree of public 
participation ?  2 
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4. {XE JE àdmh-MmQ>© H$m AÜ``Z H$s{OE Am¡a CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma {b{IE :  

aoem CËnmXZ YwZmB© H$VmB© ~wZmB© a§JmB© d
n[aîH$aU dñÌ {d{Z_m©U

aoem   dñÌ (Jm_]Q>)gyV
 

(4.1) dñÌ {d{Z_m©U Ho$ {bE Amdí`H$ AmYma ŷV gm_J«r H$m¡Z-gr h¡ ?  1 

(4.2) dñÌ CÚmoJ _| _yë` g§dY©Z H$m EH$ CXmhaU Xr{OE & 1 

5. _m±J O_m  {H$g àH$ma _wÐm H$m _hÎdnyU© bjU h¡ ? 2 

IÊS> I  
                     (bKw-CÎmar` àíZ) (3 3=9) 

6. AnZr amîQ´>r` nhMmZ H$mo Ty>± AVrV _| Jm¡ad H$m ^md n¡Xm H$aZo Ho$ {bE 
bmoH$ na§namAm| H$mo ~Mm H$a aIZm µOê$ar Wm &  ^maV Ho$ g§X ©̂ _| Bg H$WZ H$s nw{îQ> 
H$s{OE &  3 

7. (H$) G U Ho$ Am¡nMm[aH$ Am¡a AZm¡nMm[aH$ òmoVm| _| A§Va ñnîQ> H$s{OE & 3 

     AWdm 
(I) ~¢H$, {dÎmr` àUmbr Ho$ EH$ _yb KQ>H$ Ho$ ê$n _| {H$g àH$ma H$m ©̀ H$aVm h¡ ? ñnîQ> 

H$s{OE & 3 

8. ~hþXbr` ì`dñWm  H$s {H$Ýht VrZ {deofVmAm| H$mo ñnîQ> H$s{OE & 3 

IÊS> J  
                     (XrK©-CÎmar` àíZ) (2 5=10) 

9. (H$) bmoH$V§Ì emgZ, AÝ` ì`dñWmAm| ({dH$ënm|) go ~ohVa h¡ &  Bg H$WZ H$m 
{díbofU H$s{OE &  5 

  AWdm 
(I) gmar Xþ{Z`m _| bmoH$V§Ì Ho$ {dMma Ho$ {bE ^mar g_W©Z Ho$ H$maUm| H$m {díbofU 

H$s{OE & 5 

10. (H$) Xoe Ho$ {dH$mg _| d¡ídrH$aU Zo {H$g hX VH$ `moJXmZ {X`m h¡ ? _yë`m§H$Z H$s{OE & 5 

               AWdm 

 (I) ^maV _| d¡ídrH$aU Ho$ à^mdm| H$m _yë`m§H$Z H$s{OE &  5 
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4. Study the given flowchart and answer the questions that follow : 

 

(4.1) Which is the basic material required for garment manufacturing ? 1 

(4.2) Give one example of value addition in the textile industry.  1 

5. How is an essential feature of money ? 2 

SECTION B 
 (Short-Answer Type Questions) (3 3=9) 

6. to 
national identity and restore a sense of pride in one
statement in reference to India. 3 

7. (a) Differentiate between formal and informal sources of Credit.  3 
 OR 

(b) How does a bank work as a key component of the financial  
system ? Explain.  3 

8. -  3 

SECTION C 
 (Long-Answer Type Questions) (2 5=10) 

9. (a) 
 5 

 OR 

 (b) Analyse the reasons for the overwhelming support for the idea of 
democracy all over the world.  5 

10. (a) To what extent has globalisation contributed to the development of 
the country ? Assess. 5 

                  OR  

 (b) Assess the impact of globalisation in India.  5 

Garments 

Dyeing and 
Finishing 
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IÊS> K  
                 (Ho$g-AmYm[aV àíZ) (2 4=8) 

11. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$ a {b{IE : 4 

     amï´>r` AW©ì`dñWm H$s OrdZ aoImE±  

~hþV g_` VH$ ì`mnma VWm n[adhZ gw{dYm EH$ gr{_V joÌ VH$ hr {H$`m OmVm  
Wm & {dkmZ VWm àm¡Úmo{JH$s Ho$ {dH$mg Ho$ gmW ì`mnma d n[adhZ Ho$ à^md joÌ _| {dñV¥V 
d¥{Õ hþB© h¡ & gj_ d Vrd« J{V dmbo n[adhZ go AmO ©V hmo 
J`m h¡ & n[adhZ H$m `h {dH$mg g§Mma gmYZm| Ho$ {dH$mg H$s ghm`Vm go hr g§̂ d hmo gH$m 
h¡ & Bgr{bE n[adhZ, g§Mma d ì`mnma EH$-Xÿgao Ho$ nyaH$ h¢ &  

AmO ^maV AnZo {demb AmH$ma, {d{dYVmAm|, ^mfmB© VWm gm_m{OH$ d gm§ñH¥${VH$ 
~hþbVmAm| Ho$ ~mdOyX g§gma Ho$ g^r joÌm| go gwMmé 
Ob n[adhZ, g_mMma-nÌ, ao{S>`mo, XÿaXe©Z, {gZo_m VWm B§Q>aZoQ>, Am{X BgHo$  
gm_m{OH$-Am{W©H$ {dH$mg _| AZoH$ àH$ma go ghm`H$ h¢ & ñWm{ZH$ go A§Vam©ï´>r` ñVar` 
ì`mnma Zo AW©ì`dñWm H$mo OrdZ e{º$ Xr h¡ & BgZo h_mao OrdZ H$mo g_¥Õ {H$`m h¡ VWm 
Amam_Xm`H$ OrdZ Ho$ {bE gw{dYmAm| d gmY  

(11.1) n[adhZ Ho$ {dH$mg _| {dkmZ {H$g àH$ma EH$ _hÎdnyU© H$maH$ h¡ ? 1 

(11.2) gm_m{OH$ d gm§ñH¥${VH$ ~hþbVm H$mo n[adhZ {H$g àH$ma EH$sH¥$V H$aVm h¡ ? 
ñnîQ> H$s{OE & 1 

(11.3) {H$gr amîQ́>> Ho$ {bE g§Mma Ho$ _hÎd H$m {díbofU H$s{OE & 2 

12. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$ :  4 

        ñdV§ÌVm {Xdg H$s enW, 26 OZdar, 1930 

h_mam {dídmg h¡ {H$ {H$gr ^r g_mO H$s Vah ^maVr` OZVm H$m ^r `h EH$ AhaUr` 
(inalienable) A{YH$ma h¡ {H$ CÝh| AmµOmXr {_bo, AnZr _ohZV H$m \$b {_bo Am¡a OrdZ 

^r {dídmg h¡ {H$ `{X H$moB© ^r gaH$ma AnZr OZVm H$mo BZ A{YH$mam| go d§{MV aIVr h¡ 
Am¡a X~mVr h¡ Vmo OZVm H$mo ^r gaH$ma H$mo ~XbZo `m Cgo g_yb g_má H$aZo H$m A{YH$ma 
h¡ & ^maV _| {~«{Q>e ({~«VmZr) gaH$ma Zo Z Ho$db ^maVr` OZVm H$mo ñdV§ÌVm go d§{MV 
{H$`m h¡ ~pëH$ CgZo OZVm H$m emofU {H$`m h¡ Am¡a Xoe H$mo Am{W©H$, amOZr{VH$, 
gm§ñH¥${VH$ Ed§ AmÜ`mpË_H$ ñVa na Zï> H$a {X`m h¡ & Bg{bE h_mam {dídmg h¡ {H$ ^maV 
H$mo A{Zdm ©̀ ê$n go {~«Q>oZ Ho$ gmW AnZo g^r g§~§Ym| H$mo g_má H$aHo$ nyU© ñdamO àmá 
H$aZm Mm{hE &   
(12.1) ñdV§Ì ? 1 
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SECTION D 
 (Case-based questions) (2 4=8) 

11. Read the case given below carefully and answer the questions that follow : 4 

Lifelines of National Economy  

 For a long time, trade and transport were restricted to a limited space. 
With the development in science and technology, the area of influence of 
trade and transport expanded far and wide. Today, the world has been 
converted into a large village with the help of efficient and fast moving 
transport. Transport has been able to achieve this with the help of 
equally developed communication system. Therefore, transport, 
communication and trade are complementary to each other.  

 Today, India is well-linked with the rest of the world despite its vast size, 
diversity and linguistic and socio-cultural plurality. Railways, airways, 
waterways, newspapers, radio, television, cinema and internet, etc. have 
been contributing to its socio-economic progress in many ways. The 
trades from local to international levels have added to the vitality of its 
economy. It has enriched our life and added substantially to growing 
amenities and facilities for the comforts of life.  

(11.1) How is science an important factor in the development of  
transport ? 1 

(11.2) How has transport integrated socio-cultural plurality ? Explain.  1 

(11.3) Analyse the significance of communication for a nation.  2 

12. Read the case given below carefully and answer the questions that follow : 4 

The Independence Day Pledge, 26 January, 1930 

 ieve that it is the inalienable right of the Indian people, as of any 
other people, to have freedom and to enjoy the fruits of their toil and have 
the necessities of life, so that they may have full opportunities of growth. 
We believe also that if any government deprives a people of these rights 
and oppresses them, the people have a further right to alter it or to 
abolish it. The British Government in India has not only deprived the 
Indian people of their freedom but has based itself on the exploitation of 
the masses, and has ruined India economically, politically, culturally, and 
spiritually. We believe, therefore, that India must sever the British 

 

(12.1) Why was freedom considered an inalienable right of the Indian 
people ? 1 
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(12.2) ? 1 

(12.3) H$m±J«og Ho$ bmhm¡a A{YdoeZ (1930) Ho$ _hÎd H$s ì`m»`m H$s{OE & 2 

IÊS> L>  

             (_mZ{MÌ-AmYm[aV àíZ) (1+2=3) 

13. (i) {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 11 na), _| {ZåZ{b{IV OmZH$mar 
H$s ghm`Vm go 
ItMr JB© aoIm na CgH$m ghr Zm_ {b{IE &  

A. dh ñWmZ Ohm± qhgm Ho$ H$maU Agh`moJ Am§XmobZ H$mo dm{ng {b`m J`m & 1 

(ii) {XE JE ^maV Ho$ Bgr aoIm-_mZ{MÌ na {ZåZ{b{IV H$mo A§{H$V H$s{OE Am¡a CZHo$ 
Zm_ {b{IE & 

(H$) (I) Zamoam na_mUw D$Om© g§ §̀Ì 1 
                                               AWdm 

 (II) ~|Jbwé  1 

(I) B§{Xam Jm±Yr AÝVam©îQ>́r` hdmB© nÎmZ  1 

 

: 13

 3  1=3

(13.1) Cg amÁ` H$m Zm_ {b{IE Ohm± 1927 _| ^maVr` amîQ́>r` H$m±J«og H$m A{YdoeZ 
hþAm & 1 

(13.2)  (H$) Cg amÁ` H$m Zm_ {b{IE Ohm± Zamoam na_mUw D$Om© g§̀ §Ì pñWV h¡ & 1 

 AWdm 

 (I) Cg amÁ` H$m Zm_ {b{IE Ohm± ~|Jbwé  1 

(13.3) Cg eha H$m Zm_ {b{IE Ohm± B§{Xam Jm±Yr A§Vam©îQ´>r` hdmB© nÎmZ pñWV h¡ &  1 
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(12.2) Why was Purna Swaraj considered essential by the people of  
India ?  1 

(12.3) Explain the significance of the Lahore Session of Congress (1930).  2 

SECTION E 

    (Map-Based Question) (1+2=3) 

13. (i) On the given political outline map of India (on page 11), identify 

the place marked as A  with the help of the following information 

and write its correct name on the line marked near it. 

A. The place where Non-Cooperation Movement was called off 

due to violence. 1 

(ii) On the same given map of India, locate and label the following : 

(a) (I) Narora Nuclear Power Plant  1 

                                                          OR 

 (II) Bengaluru Software Technology Park  1 

(b) Indira Gandhi International Airport  1 

Note :  The following questions are for the Visually Impaired Candidates 
only, in lieu of Q. No. 13. 3 1=3 

(13.1) Name the State where the session of Indian National Congress 
was held in 1927.  1 

(13.2) (a) Name the State where Narora Nuclear Power Plant is 
located.  1 

 OR 

 (b) Name the State where Bengaluru Software Technology Park 
is located. 1  

(13.3) Name the city where Indira Gandhi International Airport is 
located.  1 
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àíZ g§. 13 Ho$ {bE  For question no. 13 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 

 

A 
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narjmWu àíZ-nÌ H$moS> >H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð >na Adí` {bIo§ & 
Candidates must write the Q.P. Code 
on the title page of the answer-book. 

 Series BQQPP/3  SET~1 

  àíZ-nÌ H$moS>       
amob Z§. Q.P. Code  

Roll No. 
 
 

 
 

ZmoQ> / NOTE : 
(i) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 9 + 1 _mZ{MÌ h¢ & 
 Please check that this question paper contains 9 printed pages +1 Map. 

(ii) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS> H$mo narjmWu CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 

(iii) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >13 àíZ h¢ & 
 Please check that this question paper contains 13 questions. 

(iv) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ Adí` 
{bI| & 

 Please write down the serial number of the question in the 
answer-book before attempting it. 

(v) Bg  àíZ-nÌ  15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-
10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-
Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 
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: 

: 

(i)  

13 

(ii) 1 5 2 

40 

(iii) 6 8 3

80 

(iv) 9 10 5 

120 

(v) 11 12 4 

(vi) 13 3 
13  1 13 2 

(vii) 

(viii) 

IÊS> H$  

                 (A{V bKw-CÎmar` àíZ)  (5 2=10) 

1.  2 

2. OyQ> dñÌ CÚmoJ Ho$ g_j à_wI g_ñ`mAm| H$mo ñnï> H$s{OE & 2 

3. EH$ gm_§Oñ`nyU© gm_m{OH$ OrdZ àmßV H$aZo Ho$ {bE bmoH$V§Ì H$mo {H$Z Xmo eVm] H$mo nyam 
H$aZm Mm{hE ?   2 

4. Cg pñW{V H$m {díbofU H$s{OE {Og_| G U, G UH$Vm© H$mo Eogr pñW{V _| YHo$bVm h¡ {Oggo 
{ZH$bZm ~hþV H$ï>Xm`H$ hmoVm h¡ &  2 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) This question paper comprises five sections  Sections A, B, C, D and E. 
There are 13 questions in the question paper. All questions are compulsory.  

(ii) Section A  Questions no. 1 to 5 are very short answer type questions, carrying 
2 marks each. Answer to each question should not exceed 40 words.  

(iii) Section B  Questions no. 6 to 8 are short answer type questions, carrying  
3 marks each. Answer to each question should not exceed 80 words. 

(iv) Section C  Questions no. 9 and 10 are long answer type questions, carrying  
5 marks each. Answer to each question should not exceed 120 words. 

(v) Section D  Questions no. 11 and 12 are case-based questions, carrying  
4 marks each.  

(vi) Section E  Question no. 13 is map-based, carrying 3 marks with two parts, 
13(a) from History (1 mark) and 13(b) from Geography (2 marks). 

(vii) There is no overall choice in the question paper. However, an internal choice 
has been provided in few questions. Only one of the choices in such questions 
have to be attempted.  

(viii) Attach Map along with your answer-book.   

SECTION A 
 (Very Short Answer Type Questions) (5 2=10) 

1. Mention the views of Mahatma Gandhi on Satyagraha.  2 

2. Explain the major concerns of Jute Textile industry.  2 

3. Mention the two conditions that democracy must fulfil in order to achieve 
a harmonious social life.  2 

4. Analyse the situation in which credit pushes the borrower into a 
situation from which recovery is painful.  2 
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5. gHo$ ZrMo {XE JE àíZm| Ho$ CÎma {b{IE :  
^maVr` aob ZoQ>dH©$ 

JoO _rQ>a _| ê$Q>  
({H$_r) 

dhZ _mJ© 
({H$_r) 

Hw$b _mJ© 
({H$_r) 

(1.676)  63,491  89,521 1,17,560 

_rQ>a bmBZ (1.000)   3,200   3,462      3,775 

N>moQ>r bmBZ (0.762 VWm 0.610)   1,751   1,752      1,901 

Hw$b  68,442 94,735 1,23,236 

(5.1) ? 1 
(5.2) ^maV _| {H$g bmBZ H$s b§~mB© gdm©{YH$ h¡ ?  1 

IÊS> I  
                   (bKw-CÎmar` àíZ) (3 3=9) 
6. (H$) {díd ì`mnma g§JR>Z _| {dH$mgerb Xoem| Ho$ {bE hþB© MMm© H$s naI H$s{OE & 3 

AWdm 
(I) ^maV _| {dXoer H§$n{Z`m| H$mo {Zdoe Ho$ {bE AmH${f©V H$aZo Ho$ {bE Ho$ÝÐ Am¡a amÁ` 

gaH$mam| Ûmam CR>mE JE H$X_m| H$m narjU H$s{OE & 3 

7. Xoe H$mo EH$OwQ> H$aZo Ho$ {bE _hmË_m Jm±Yr H$mo Z_H$  EH$ e{º$embr àVrH$ {XImB©  
{X`m &  Bg H$WZ H$s VrZ VH$m] g{hV nw{ï> H$s{OE & 3 

8. bmoH$V§Ì H$s AnZo {bE g_W©Z CËnÞ H$aZo H$s j_Vm ñd §̀ EH$ n[aUm_ hr h¡ Am¡a BgH$s 
AZXoIr Zht H$s Om gH$Vr &  Bg H$WZ H$m VrZ CXmhaUm| g{hV {díbofU H$s{OE &  3 

IÊS> J  
                   (XrK©-CÎmar` àíZ) (2 5=10) 
9. (H$) {díd^a H$s bmoH$Vm§{ÌH$ ì`dñWmAm| _| amOZr{VH$ Xb gd©ì`mnr hmo JE h¢ &  

CXmhaUm| g{hV H$WZ H$s ì`m»`m H$s{OE &  1 5=5 
AWdm 

 (I) ^maV _| amOZr{VH$ Xbm| H$mo _µO~yV H$aZo Ho$ {bE H$B© gwYma {H$E JE h¢ Vm{H$ do 
AnZo H$m`m] H$mo AÀN>r Vah go H$a gH|$ &  CXmhaUm| g{hV H$WZ H$s ì`m»`m 
H$s{OE &  1 5=5 

10. (H$) ñd`§ ghm`Vm g_yh  J«m_rU µJar~m| H$mo {H$g àH$ma g§J{R>V H$aZo _| _XX H$aVo h¢ ? 
CXmhaUm| g{hV ì`m»`m H$s{OE &  1 5=5 

AWdm 
 (I) Am¡nMm[aH$ Am¡a AZm¡nMm[aH$ G UXmVmAm| Ho$ ~rM G U {H$g àH$ma H$m\$s hX VH$ 

{^Þ hmoVm h¡ ? CXmhaUm| g{hV ì`m»`m H$s{OE &  1 5=5 
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5. Read the following table and answer the questions that follow : 

The Indian Railway network 

Gauge in metres  Route  
(km) 

Running 
Track (km) 

Total  
Track (km) 

Broad Gauge (1.676)  63,491  89,521 1,17,560 

Metre Gauge (1.000)   3,200   3,462      3,775 

Narrow Gauge (0.762 and 0.610)   1,751   1,752      1,901 

Total 68,442 94,735 1,23,236 

(5.1) Which gauge covers maximum of track length in hilly areas in  
India ? 1 

(5.2) Which gauge has the highest length in India ? 1 
SECTION B 

 (Short Answer Type Questions) (3 3=9) 

6. (a) Examine the debate that took place in the World Trade 
Organisation for the developing countries. 3 

OR 
(b) Examine the steps taken by the Central and State governments to 

attract foreign companies to invest in India.  3 
7. salt , a powerful symbol that could unite the 

 3 
8. ate its own support is itself an outcome that 

 3 
SECTION C 

 (Long Answer Type Questions) (2 5=10) 

9. (a) 
in the statement with examples.  1 5=5 

OR 
 (b) 

examples.   1 5=5 

10. (a) How are self-help groups  the building blocks of the rural poor ? 
Explain with examples.    1 5=5 

OR 
(b) How does the credit vary substantially between formal and 

informal lenders ? Explain with examples.  1 5=5 
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IÊS> K  
                 (Ho$g-AmYm[aV àíZ) (2 4=8) 

11. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$ n : 4 

        gm_y{hH$ AnZonZ H$s ^mdZm  

gm_y{hH$ AnZonZ H$s `h ^mdZm Am§{eH$ ê$n go g§̀ wº$ g§Kfm] Ho$ MbVo n¡Xm hþB© Wr & 
BZHo$ Abmdm ~hþV gmar gm§ñH¥${VH$ à{H«$`mE± ^r Wt {OZHo$ µO[aE amï´>dmX bmoJm| H$s 
H$ënZm Am¡a {Xbmo{X_mµJ na N>m J`m Wm & B{Vhmg d gm{hË`, bmoH$ H$WmE± d JrV, 
{MÌ d àVrH$, g^r Zo amḯ>dmX H$mo gmH$ma H$aZo _| AnZm `moJXmZ {X`m Wm & 

O¡gm {H$ Amn OmZVo h¢, amï>́ H$s nhMmZ g~go µÁ`mXm {H$gr Vgdra _| A§{H$V H$s 
OmVr h¡ & Bggo bmoJm| H$mo EH$ 
H$mo nhMmZ gH$Vo h¢ & ~rgdt gXr _| amï´>dmX Ho$ {dH$mg Ho$ gmW ^maV H$s nhMmZ ^r 
^maV _mVm H$s N>{d H$m ê$n boZo bJr & Bg N>{d Ho$ {Z_m©U H$m Ama§̂  ~§{H$_ MÝÐ 
MÅ>monmÜ`m` Zo {H$`m Wm & 1870 Ho$ XeH$ _| CÝhm|Zo _mV¥̂ y{_ H$s ñVw{V Ho$ ê$n _| 
dÝXo _mVa_²  JrV {bIm Wm & ~mX _| Bgo CÝhm|Zo AnZo CnÝ`mg  _| em{_b 
H$a {b`m & `h JrV ~§Jmb _| ñdXoer AmÝXmobZ _| Iy~ Jm`m J`m & ñdXoer Am§XmobZ 
H$s àoaUm go A~ZrÝÐZmW Q>¡Jmoa Zo ^maV _mVm H$s {d»`mV N>{d H$mo {M{ÌV {H$`m & 
Bg n|qQ>J _| ^maV _mVm H$mo EH$ g§Ý`m{gZr Ho$ ê$n _| Xem©`m J`m h¡ & dh em§V, 
J§̂ ra, X¡dr Am¡a AÜ`mpË_H$ JwUm| go ẁº$ {XImB© XoVr h¡ & AmJo Mb H$a O~ Bg 

gdram| _| CVmam OmZo bJm Am¡a {d{^Þ H$bmH$ma `h Vgdra 
~ZmZo bJo Vmo ^maV _mVm H$s N>{d {d{dY ê$n J«hU H$aVr JB© & Bg _mV¥ N>{d Ho$ 
à{V lÕm H$mo amḯ>dmX _| AmñWm H$m àVrH$ _mZm OmZo bJm &  

(11.1) amḯ>  bmoJm| Ho$ _pñVîH$ _| EH$ `WmW© H$m ê$n H¡$go boVm h¡ ? 1 

(11.2) amḯ>dmX Zo bmoJm| H$s H$ënZmAm| _| H¡$go ê$n {b`m ? 1 

(11.3) {d{^Þ g_wXm`m| Ho$ bmoJm| _| gm_y{hH$ AnZonZ H$m ^md {H$g àH$ma {dH${gV  
hþAm ?  2 

12. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$ : 4 

     amï>́r` Vmn {dÚwVJ¥h H$m°anmoaoeZ (NTPC) Ûmam {XIm`m J`m _mJ©  

^maV _| amï>́r` Vmn {dÚwVJ¥h H$m°anmoaoeZ {dÚwV àXmZ H$aZo dmbm _w»` {ZJ_ h¡ & 
BgHo$ nmg n`m©daU à~§YZ V§Ì (EMS) 14001 Ho$ {bE AmB© Eg Amo (ISO) à_mU 
nÌ h¡ & `h {ZJ_ àmH¥${VH$ n`m©daU Am¡a g§gmYZ O¡go Ob, I{ZO Vob, J¡g VWm 
BªYZ g§ajU Zr{V H$m {h_m`Vr h¡ VWm BÝh| Ü`mZ _| aIH$a hr {dÚwV g§̀ §Ìm| H$s 
ñWmnZm H$aVm h¡ & 
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SECTION D 
 (Case-based questions) (2 4=8) 
11. Read the case given below carefully and answer the questions that follow : 4 

The Sense of Collective Belonging 
This sense of collective belonging came partly through the experience of 
united struggles. But there were also a variety of cultural processes 

fiction, folklore and songs, popular prints and symbols, all played a part 
in the making of nationalism.  
The identity of the nation, as you know, is most often symbolised in a 
figure or image. This helps create an image with which people can 
identify the nation. It was in the twentieth century, with the growth of 
nationalism, that the identity of India came to be visually associated 
with the image of Bharat Mata. The image was first created by Bankim 

hymn to the motherland. Later it was included in his novel Anandamath 
and widely sung during the Swadeshi movement in Bengal. Moved by 
the Swadeshi movement, Abanindranath Tagore painted his famous 
image of Bharat Mata. In this painting, Bharat Mata is portrayed as an 
ascetic figure; she is calm, composed, divine and spiritual. In subsequent 
years, the image of Bharat Mata acquired many different forms, as it 
circulated in popular prints, and was painted by different artists. 

nationalism.  
(11.1) How did the nation  become a reality in the minds of people ? 1 
(11.2) How did nationalism capture the  1 
(11.3) How did people belonging to different groups develop a sense of 

collective belonging ?  2 

12. Read the case given below carefully and answer the questions that follow : 4 

National Thermal Power Corporation (NTPC) shows the way  

 NTPC is a major power providing corporation in India. It has ISO 
certification for EMS (Environment Management System) 14001. The 
corporation has a proactive approach for preserving the natural 
environment and resources like water, oil, gas and fuels in places where 
it is setting up power plants.   
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Eogm {ZåZ Cnm`m| Ûmam g§^d h¡ :  
(H$) AmYw{ZH$V_ VH$ZrH$m| na AmYm[aV CnH$aUm| H$m ghr Cn`moJ H$aHo$ VWm 

{dÚ_mZ CnH$aUm| _| gwYma H$aHo$ & 
(I) A{YH$V_ amI H$m BñVo_mb H$a An{eï> nXmWm] H$m Ý ỳZ CËnmXZ H$aZm &  
(J) nm[apñW{VH$s g§VwbZ ~ZmE aIZo Ho$ {bE h[aV joÌ H$s gwajm VWm d¥jmamonU 

Ho$ {bE ào[aV H$aZm &  
(K) Vab An{eï> à~§YZ, amI- ẁº$ Obr` nwZM©H«$U VWm amI-g§J«h (Ash 

pond) à~§YZ Ûmam n`m©daU àXÿfU H$mo H$_ H$aZm &  
(L>) g^r D$Om© g§ §̀Ìm| H$m nm[apñW{VH$s` ê$n go _m°ZrQ>a VWm g_rjm H$aZm Ed§ 

 

(12.1) gVV nmofUr` {dH$mg  H$mo n[a^m{fV H$s{OE &  1 

(12.2) AmB©.Eg.Amo. (ISO) à_mUZ h¡ ?  1 

(12.3) amḯ>r` Vmn {dÚwVJ¥h H$m°anmoaoeZ (NTPC) Ho$ g{H«$` Ñ{ï>H$moU H$s naI H$s{OE &  2 
IÊS> L>  

             (_mZ{MÌ-AmYm[aV àíZ) (1+2=3) 
13. (i) {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 11 na), _| {ZåZ{b{IV OmZH$mar 

H$s ghm`Vm go 
ItMr JB© aoIm na CgH$m ghr Zm_ {b{IE &  
A. dh ñWmZ Ohm± O{b`m±dmbm ~mJ hË`mH$m±S> hþAm Wm &  1 

(ii) {XE JE ^maV Ho$ Bgr aoIm-_mZ{MÌ na {ZåZ{b{IV H$mo A§{H$V H$s{OE Am¡a CZHo$ 
Zm_ {b{IE & 
(H$) (I) qgJam¡br Vmnr` D$Om© g§̀ §Ì  1 

                                                  AWdm 
 (II)  1 
(I) H$mobH$mVm (ZoVmOr gw^mf M§Ð ~mog) A§Vam©ḯ>r` hdmB© nÎmZ  1 
 

: 13
 3  1=3

(13.1) Cg amÁ` H$m Zm_ {b{IE Ohm± O{b`m±dmbm ~mJ hË`mH$m±S> hþAm Wm &  1 

(13.2)  (H$) Cg amÁ` H$m Zm_ {b{IE Ohm± qgJam¡br Vmnr` D$Om© g§ §̀Ì pñWV h¡ & 1 
 AWdm 

 (I) Cg amÁ` H$m Zm_ {b{IE Ohm± _w§~B© gm°âQ>do`a Q>o  1 

(13.3) Cg amÁ` H$m Zm_ {b{IE Ohm± H$mobH$mVm (ZoVmOr gw^mf M§Ð ~mog) A§Vam©ḯ>r` 
hdmB© nÎmZ pñWV h¡ &   1
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 This has been possible through : 

(a) Optimum utilisation of equipment adopting latest techniques and 
upgrading existing equipment.  

(b) Minimising waste generation by maximising ash utilisation.  

(c) Providing green belts for nurturing ecological balance and 
addressing the question of special purpose vehicles for 
afforestation.  

(d) Reducing environmental pollution through ash pond management, 
ash water recycling system and liquid waste management.  

(e) Ecological monitoring, reviews and online database management 
for all its power stations.  

(12.1)  1 

(12.2) What is the idea behind ISO certification ?  1 

(12.3) Examine the proactive approach of National Thermal Power 
Corporation (NTPC).  2 

SECTION E 
      (Map-based question) (1+2=3) 
13. (i) On the given political outline map of India (on page 11), identify 

the place marked as A  with the help of the following information 
and write its correct name on the line marked near it. 
A. The place where Jallianwala Bagh massacre took place.  1 

(ii) On the same given map of India, locate and label the following : 
(a) (I) Singrauli Thermal Plant  1 

                                                OR 
 (II) Mumbai Software Technology Park  1 
(b) Kolkata (Netaji Subhash Chandra Bose) International 

Airport 1 

Note :  The following questions are for the Visually Impaired Candidates 
only, in lieu of Q. No. 13. 3 1=3 

(13.1) Name the State where Jallianwala Bagh massacre took place. 1  
(13.2) (a) Name the State where Singrauli Thermal Plant is located.  1 

 OR 
 (b) Name the State where Mumbai Software Technology Park is 

located.  1 
(13.3) Name the State where Kolkata (Netaji Subhash Chandra Bose) 

International Airport is located.   1 
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àíZ g§. 13 Ho$ {bE  For question no. 13 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 

 

A 
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narjmWu àíZ-nÌ H$moS> >H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð >na Adí` {bIo§ & 
Candidates must write the Q.P. Code 
on the title page of the answer-book. 

 Series BQQPP/3  SET~2 

  àíZ-nÌ H$moS>       
amob Z§. Q.P. Code  

Roll No. 
 
 

 
 

ZmoQ> / NOTE : 
(i) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 9 + 1 _mZ{MÌ h¢ & 
 Please check that this question paper contains 9 printed pages +1 Map. 

(ii) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS> H$mo narjmWu CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 

(iii) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >13 àíZ h¢ & 
 Please check that this question paper contains 13 questions. 

(iv) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ Adí` 
{bI| & 

 Please write down the serial number of the question in the 
answer-book before attempting it. 

(v) Bg  àíZ-nÌ  15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-
10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-
Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 
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: 

: 

(i)  

13 

(ii) 1 5 2 

40 

(iii) 6 8 3

80 

(iv) 9 10 5 

120 

(v) 11 12 4 

(vi) 13 3 
13  1 13 2 

(vii) 

(viii) 

IÊS> H$  

                 (A{V bKw-CÎmar` àíZ)  (5 2=10) 

1.  
H$s{OE & 2 

2. MrZr CÚmoJ  Ho$ g_j {H$Ýht Xmo à_wI MwZm¡{V`m| H$s naI H$s{OE & 2 

3. Cg pñW{V H$m {díbofU H$s{OE {Og_| G U, G UH$Vm© H$mo Eogr pñW{V _| YHo$bVm h¡ {Oggo 
{ZH$bZm ~hþV H$ï>Xm`H$ hmoVm h¡ &  2 

4. EH$ gm_§Oñ`nyU© gm_m{OH$ OrdZ àmßV H$aZo Ho$ {bE bmoH$V§Ì H$mo {H$Z Xmo eVm] H$mo nyam 
H$aZm Mm{hE ?  2 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) This question paper comprises five sections  Sections A, B, C, D and E. 
There are 13 questions in the question paper. All questions are compulsory.  

(ii) Section A  Questions no. 1 to 5 are very short answer type questions, carrying 
2 marks each. Answer to each question should not exceed 40 words.  

(iii) Section B  Questions no. 6 to 8 are short answer type questions, carrying  
3 marks each. Answer to each question should not exceed 80 words. 

(iv) Section C  Questions no. 9 and 10 are long answer type questions, carrying  
5 marks each. Answer to each question should not exceed 120 words. 

(v) Section D  Questions no. 11 and 12 are case-based questions, carrying  
4 marks each.  

(vi) Section E  Question no. 13 is map-based, carrying 3 marks with two parts, 
13(a) from History (1 mark) and 13(b) from Geography (2 marks). 

(vii) There is no overall choice in the question paper. However, an internal choice 
has been provided in few questions. Only one of the choices in such questions 
have to be attempted.  

(viii) Attach Map along with your answer-book.   

SECTION A 

 (Very Short Answer Type Questions) (5 2=10) 

1. Mention any two impacts of the First World War on Indian Economy.  2 

2. Ex   2 

3. Analyse the situation in which credit pushes the borrower into a 
situation from which recovery is painful.  2 

4. Mention the two conditions that democracy must fulfil in order to achieve 
a harmonious social life.  2 



  

 Page 4 32/3/2 

5. :  

^maVr` aob ZoQ>dH©$ 

JoO _rQ>a _| 
ê$Q>  

({H$_r) 
dhZ _mJ© 
({H$_r) 

Hw$b _mJ© 
({H$_r) 

(1.676)  63,491  89,521 1,17,560 

_rQ>a bmBZ (1.000)   3,200   3,462      3,775 

N>moQ>r bmBZ (0.762 VWm 0.610)   1,751   1,752      1,901 

Hw$b  68,442 94,735 1,23,236 

(5.1) ? 1 
(5.2) ^maV _| {H$g bmBZ H$s b§~mB© gdm©{YH$ h¡ ?  1 

IÊS> I  
                   (bKw-CÎmar` àíZ) (3 3=9) 
6. bmoH$V§Ì H$s AnZo {bE g_W©Z CËnÞ H$aZo H$s j_Vm ñd §̀ EH$ n[aUm_ hr h¡ Am¡a BgH$s 

AZXoIr Zht H$s Om gH$Vr &  Bg H$WZ H$m VrZ CXmhaUm| g{hV {díbofU H$s{OE &  3 

7. _hmË_m Jm±Yr Zo {Ibm\ ^maV _| A{YH$ ì`mnH$ AmYma dmbm 
Am§XmobZ Mbm`m &  Agh`moJ Am§XmobZ Ho$ g§X ©̂ _| Bg H$WZ H$s ì`m»`m {H$Ýht VrZ VH$m] 
go H$s{OE & 3 

8. (H$) {díd ì`mnma g§JR>Z _| {dH$mgerb Xoem| Ho$ {bE hþB© MMm© H$s naI H$s{OE & 3 
AWdm 

(I) ^maV _| {dXoer H§$n{Z`m| H$mo {Zdoe Ho$ {bE AmH${f©V H$aZo Ho$ {bE Ho$ÝÐ Am¡a amÁ` 
gaH$mam| Ûmam CR>mE JE H$X_m| H$m narjU H$s{OE & 3 

IÊS> J  
                   (XrK©-CÎmar` àíZ) (2 5=10) 

9. (H$) {díd^a H$s bmoH$Vm§{ÌH$ ì`dñWmAm| _| amOZr{VH$ Xb gd©ì`mnr hmo JE h¢ &  
CXmhaUm| g{hV H$WZ H$s ì`m»`m H$s{OE &  1 5=5 

AWdm 
 (I) ^maV _| amOZr{VH$ Xbm| H$mo _µO~yV H$aZo Ho$ {bE H$B© gwYma {H$E JE h¢ Vm{H$ do 

AnZo H$m`m] H$mo AÀN>r Vah go H$a gH|$ &  CXmhaUm| g{hV H$WZ H$s ì`m»`m 
H$s{OE &  1 5=5 

10. (H$) {dH$mg Ho$ {bE G U H$s ^y{_H$m H$mo CXmhaU g{hV ñnîQ> H$s{OE &  1 5=5 
            AWdm 
 (I) gmI (G$U) Ho$ Am¡nMm[aH$ òmoV {H$g àH$ma AZm¡nMm[aH$ òmoVm| go {^Þ h¢ ? 

CXmhaU g{hV ñnîQ> H$s{OE &   1 5=5 
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5. Read the following table and answer the questions that follow : 
The Indian Railway network 

Gauge in metres  Route  
(km) 

Running 
Track (km) 

Total  
Track (km) 

Broad Gauge (1.676)  63,491  89,521 1,17,560 

Metre Gauge (1.000)   3,200   3,462      3,775 

Narrow Gauge (0.762 and 0.610)   1,751   1,752      1,901 

Total 68,442 94,735 1,23,236 

(5.1) Which gauge covers maximum of track length in hilly areas in  
India ? 1 

(5.2) Which gauge has the highest length in India ? 1 
SECTION B 

 (Short Answer Type Questions) (3 3=9) 

6. 
can  3 

7. -based movement in India by 

arguments in the context of Non-Cooperation Movement.     3 
8. (a) Examine the debate that took place in the World Trade 

Organisation for the developing countries. 3 
OR 

(b) Examine the steps taken by the Central and State governments to 
attract foreign companies to invest in India.  3 

SECTION C 
 (Long Answer Type Questions) (2 5=10) 

9. (a) 
 1 5=5 

OR 
 (b) 

that they perform their fu
examples.   1 5=5 

10. (a) Explain with an example the role of credit for development.     1 5=5 
                OR 
 (b) How are formal sources of credit different from infomal sources ? 

Explain with example.  1 5=5 
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IÊS> K  
                 (Ho$g-AmYm[aV àíZ) (2 4=8) 

11. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$ : 4 

     amï>́r` Vmn {dÚwVJ¥h H$m°anmoaoeZ (NTPC) Ûmam {XIm`m J`m _mJ©  

^maV _| amï>́r` Vmn {dÚwVJ¥h H$m°anmoaoeZ {dÚwV àXmZ H$aZo dmbm _w»` {ZJ_ h¡ & 
BgHo$ nmg n`m©daU à~§YZ V§Ì (EMS) 14001 Ho$ {bE AmB© Eg Amo (ISO) à_mU 
nÌ h¡ & `h {ZJ_ àmH¥${VH$ n`m©daU Am¡a g§gmYZ O¡go Ob, I{ZO Vob, J¡g VWm 
BªYZ g§ajU Zr{V H$m {h_m`Vr h¡ VWm BÝh| Ü`mZ _| aIH$a hr {dÚwV g§ §̀Ìm| H$s 
ñWmnZm H$aVm h¡ & 
Eogm {ZåZ Cnm`m| Ûmam g§^d h¡ :  
(H$) AmYw{ZH$V_ VH$ZrH$m| na AmYm[aV CnH$aUm| H$m ghr Cn`moJ H$aHo$ VWm 

{dÚ_mZ CnH$aUm| _| gwYma H$aHo$ & 
(I) A{YH$V_ amI H$m BñVo_mb H$a An{eï> nXmWm] H$m Ý ỳZ CËnmXZ H$aZm &  
(J) nm[apñW{VH$s g§VwbZ ~ZmE aIZo Ho$ {bE h[aV joÌ H$s gwajm VWm d¥jmamonU 

Ho$ {bE ào[aV H$aZm &  
(K) Vab An{eï> à~§YZ, amI- ẁº$ Obr` nwZM©H«$U VWm amI-g§J«h (Ash 

pond) à~§YZ Ûmam n`m©daU àXÿfU H$mo H$_ H$aZm &  
(L>) g^r D$Om© g§ §̀Ìm| H$m nm[apñW{VH$s` ê$n go _m°ZrQ>a VWm g_rjm H$aZm Ed§ 

 

(11.1) gVV nmofUr` {dH$mg  H$mo n[a^m{fV H$s{OE &  1 

(11.2) AmB©.Eg.Amo. (ISO) h¡ ?  1 
(11.3) amḯ>r` Vmn {dÚwVJ¥h H$m°anmoaoeZ (NTPC) Ho$ g{H«$` Ñ{ï>H$moU H$s naI H$s{OE &  2 

12. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$ : 4 

        gm_y{hH$ AnZonZ H$s ^mdZm  

gm_y{hH$ AnZonZ H$s `h ^mdZm Am§{eH$ ê$n go g§̀ wº$ g§Kfm] Ho$ MbVo n¡Xm hþB© Wr & 
BZHo$ Abmdm ~hþV gmar gm§ñH¥${VH$ à{H«$`mE± ^r Wt {OZHo$ µO[aE amḯ>dmX bmoJm| H$s 
H$ënZm Am¡a {Xbmo{X_mµJ na N>m J`m Wm & B{Vhmg d gm{hË`, bmoH$ H$WmE± d JrV, 
{MÌ d àVrH$, g^r Zo amḯ>dmX H$mo gmH$ma H$aZo _| AnZm `moJXmZ {X`m Wm & 

O¡gm {H$ Amn OmZVo h¢, amï>́ H$s nhMmZ g~go µÁ`mXm {H$gr Vgdra _| A§{H$V H$s 
OmV
H$mo nhMmZ gH$Vo h¢ & ~rgdt gXr _| amï´>dmX Ho$ {dH$mg Ho$ gmW ^maV H$s nhMmZ ^r 
^maV _mVm H$s N>{d H$m ê$n boZo bJr & Bg N>{d Ho$ {Z_m©U H$m Ama§̂  ~§{H$_ MÝÐ 
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SECTION D 
 (Case-based questions) (2 4=8) 

11. Read the case given below carefully and answer the questions that follow : 4 

National Thermal Power Corporation (NTPC) shows the way  

 NTPC is a major power providing corporation in India. It has ISO 
certification for EMS (Environment Management System) 14001. The 
corporation has a proactive approach for preserving the natural 
environment and resources like water, oil, gas and fuels in places where 
it is setting up power plants.   

 This has been possible through : 
(a) Optimum utilisation of equipment adopting latest techniques and 

upgrading existing equipment.  
(b) Minimising waste generation by maximising ash utilisation.  
(c) Providing green belts for nurturing ecological balance and 

addressing the question of special purpose vehicles for 
afforestation.  

(d) Reducing environmental pollution through ash pond management, 
ash water recycling system and liquid waste management.  

(e) Ecological monitoring, reviews and online database management 
for all its power stations.  

(11.1)  1 

(11.2) What is the idea behind ISO certification ?  1 

(11.3) Examine the proactive approach of National Thermal Power 
Corporation (NTPC).  2 

12. Read the case given below carefully and answer the questions that follow : 4 
The Sense of Collective Belonging 

This sense of collective belonging came partly through the experience of 
united struggles. But there were also a variety of cultural processes 

nd 
fiction, folklore and songs, popular prints and symbols, all played a part 
in the making of nationalism.  
The identity of the nation, as you know, is most often symbolised in a 
figure or image. This helps create an image with which people can 
identify the nation. It was in the twentieth century, with the growth of 
nationalism, that the identity of India came to be visually associated 
with the image of Bharat Mata. The image was first created by Bankim 
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MÅ>monmÜ`m` Zo {H$`m Wm & 1870 Ho$ XeH$ _| CÝhm|Zo _mV¥̂ y{_ H$s ñVw{V Ho$ ê$n _| 
dÝXo _mVa_²  JrV {bIm Wm & ~mX _| Bgo CÝhm|Zo AnZo CnÝ`mg  _| em{_b 
H$a {b`m & `h JrV ~§Jmb _| ñdXoer AmÝXmobZ _| Iy~ Jm`m J`m & ñdXoer Am§XmobZ 
H$s àoaUm go A~ZrÝÐZmW Q>¡Jmoa Zo ^maV _mVm H$s {d»`mV N>{d H$mo {M{ÌV {H$`m & 
Bg n|qQ>J _| ^maV _mVm H$mo EH$ g§Ý`m{gZr Ho$ ê$n _| Xem©`m J`m h¡ & dh em§V, 
J§̂ ra, X¡dr Am¡a AÜ`mpË_H$ JwUm| go ẁº$ {XImB© XoVr h¡ & AmJo Mb H$a O~ Bg 

~ZmZo bJo Vmo ^maV _mVm H$s N>{d {d{dY ê$n J«hU H$aVr JB© & Bg _mV¥ N>{d Ho$ 
à{V lÕm H$mo amḯ>dmX _| AmñWm H$m àVrH$ _mZm OmZo bJm &  

(12.1) amḯ>  bmoJm| Ho$ _pñVîH$ _| EH$ `WmW© H$m ê$n H¡$go boVm h¡ ? 1 

(12.2) amḯ>dmX Zo bmoJm| H$s H$ënZmAm| _| H¡$go ê$n {b`m ? 1 

(12.3) {d{^Þ g_wXm`m| Ho$ bmoJm| _| gm_y{hH$ AnZonZ H$m ^md {H$g àH$ma {dH${gV  
hþAm ?  2 

IÊS> L>  
             (_mZ{MÌ-AmYm[aV àíZ) (1+2=3) 
13. (i) {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 11 na), _| {ZåZ{b{IV OmZH$mar 

H$s ghm`Vm go  ñWmZ H$s nhMmZ H$s{OE Am¡a CgHo$ nmg 
ItMr JB© aoIm na CgH$m ghr Zm_ {b{IE &  
A. dh ñWmZ Ohm± O{b`m±dmbm ~mJ hË`mH$m±S> hþAm Wm &  1 

(ii) {XE JE ^maV Ho$ Bgr aoIm-_mZ{MÌ na {ZåZ{b{IV H$mo A§{H$V H$s{OE Am¡a CZHo$ 
Zm_ {b{IE & 
(H$) (I) qgJam¡br Vmnr` D$Om© g§ §̀Ì  1 

                                                  AWdm 
 (II)  1 
(I) H$mobH$mVm (ZoVmOr gw^mf M§Ð ~mog) A§Vam©ḯ>r` hdmB© nÎmZ  1 
 

: 13
 3  1=3

(13.1) Cg amÁ` H$m Zm_ {b{IE Ohm± O{b`m±dmbm ~mJ hË`mH$m±S> hþAm Wm &  1 
(13.2)  (H$) Cg amÁ` H$m Zm_ {b{IE Ohm± qgJam¡br Vmnr` D$Om© g§ §̀Ì pñWV h¡ & 1 

 AWdm 
 (I)  1 
(13.3) Cg amÁ` H$m Zm_ {b{IE Ohm± H$mobH$mVm (ZoVmOr gw^mf M§Ð ~mog) A§Vam©ï>́r` 

hdmB© nÎmZ pñWV h¡ &   1
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hymn to the motherland. Later it was included in his novel Anandamath 
and widely sung during the Swadeshi movement in Bengal. Moved by 
the Swadeshi movement, Abanindranath Tagore painted his famous 
image of Bharat Mata. In this painting, Bharat Mata is portrayed as an 
ascetic figure; she is calm, composed, divine and spiritual. In subsequent 
years, the image of Bharat Mata acquired many different forms, as it 
circulated in popular prints, and was painted by different artists. 

nationalism.  
(12.1) How did the ome a reality in the minds of people ? 1 
(12.2)  1 
(12.3) How did people belonging to different groups develop a sense of 

collective belonging ?  2 
SECTION E 

      (Map-based question) (1+2=3) 
13. (i) On the given political outline map of India (on page 11), identify 

the place marked as A  with the help of the following information 
and write its correct name on the line marked near it. 
A. The place where Jallianwala Bagh massacre took place.  1 

(ii) On the same given map of India, locate and label the following : 
(a) (I) Singrauli Thermal Plant  1 

                                                OR 

 (II) Mumbai Software Technology Park  1 

(b) Kolkata (Netaji Subhash Chandra Bose) International 
Airport 1 

Note :  The following questions are for the Visually Impaired Candidates 
only, in lieu of Q. No. 13. 3 1=3 

(13.1) Name the State where Jallianwala Bagh massacre took place. 1  
(13.2) (a) Name the State where Singrauli Thermal Plant is located.  1 

 OR 
 (b) Name the State where Mumbai Software Technology Park is 

located.  1 
(13.3) Name the State where Kolkata (Netaji Subhash Chandra Bose) 

International Airport is located.   1 
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àíZ g§. 13 Ho$ {bE  For question no. 13 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 

 

A 
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narjmWu àíZ-nÌ H$moS> >H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð >na Adí` {bIo§ & 
Candidates must write the Q.P. Code 
on the title page of the answer-book. 

 Series BQQPP/3  SET~3 

  àíZ-nÌ H$moS>       
amob Z§. Q.P. Code  

Roll No. 
 
 

 
 

ZmoQ> / NOTE : 
(i) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 9 + 1 _mZ{MÌ h¢ & 
 Please check that this question paper contains 9 printed pages +1 Map. 

(ii) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS> H$mo narjmWu CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 

(iii) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >13 àíZ h¢ & 
 Please check that this question paper contains 13 questions. 

(iv) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ Adí` 
{bI| & 

 Please write down the serial number of the question in the 
answer-book before attempting it. 

(v) Bg  àíZ-nÌ  15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-
10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-
Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 
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: 

: 

(i)  
13 

(ii) 1 5 2 
40 

(iii) 6 8 3
80 

(iv) 9 10 5 

120 

(v) 11 12 4 

(vi) 13 3 
13  1 13 2 

(vii) 

(viii) 

IÊS> H$  
                 (A{V bKw-CÎmar` àíZ)  (5 2=10) 

1. 1920  2 

2. ? 
CXmhaU g{hV ì`m»`m H$s{OE & 2 

3. :  
^maVr` aob ZoQ>dH©$ 

JoO _rQ>a _| ê$Q>  
({H$_r) 

dhZ _mJ© 
({H$_r) 

Hw$b _mJ© 
({H$_r) 

(1.676)  63,491  89,521 1,17,560 

_rQ>a bmBZ (1.000)   3,200   3,462      3,775 

N>moQ>r bmBZ (0.762 VWm 0.610)   1,751   1,752      1,901 

Hw$b  68,442 94,735 1,23,236 

(3.1) ? 1 
(3.2) ^maV _| {H$g bmBZ H$s b§~mB© gdm©{YH$ h¡ ?  1 
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General Instructions : 
Read the following instructions very carefully and strictly follow them : 
(i) This question paper comprises five sections  Sections A, B, C, D and E. 

There are 13 questions in the question paper. All questions are compulsory.  
(ii) Section A  Questions no. 1 to 5 are very short answer type questions, carrying 

2 marks each. Answer to each question should not exceed 40 words.  
(iii) Section B  Questions no. 6 to 8 are short answer type questions, carrying  

3 marks each. Answer to each question should not exceed 80 words. 
(iv) Section C  Questions no. 9 and 10 are long answer type questions, carrying  

5 marks each. Answer to each question should not exceed 120 words. 
(v) Section D  Questions no. 11 and 12 are case-based questions, carrying  

4 marks each.  
(vi) Section E  Question no. 13 is map-based, carrying 3 marks with two parts, 

13(a) from History (1 mark) and 13(b) from Geography (2 marks). 
(vii) There is no overall choice in the question paper. However, an internal choice 

has been provided in few questions. Only one of the choices in such questions 
have to be attempted.  

(viii) Attach Map along with your answer-book.   

SECTION A 
 (Very Short Answer Type Questions) (5 2=10) 

1. Mention the two Satyagrahas of Mahatma Gandhi for the peasantry class 
before 1920.   2 

2. Why has the iron and steel industry not been able to perform to its full 
potential ? Explain with example.  2 

3. Read the following table and answer the questions that follow : 

The Indian Railway network 

Gauge in metres  
Route  
(km) 

Running 
Track (km) 

Total  
Track (km) 

Broad Gauge (1.676)  63,491  89,521 1,17,560 

Metre Gauge (1.000)   3,200   3,462      3,775 

Narrow Gauge (0.762 and 0.610)   1,751   1,752      1,901 

Total 68,442 94,735 1,23,236 

(3.1) Which gauge covers maximum of track length in hilly areas in  
India ? 1 

(3.2) Which gauge has the highest length in India ? 1 
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4. EH$ gm_§Oñ`nyU© gm_m{OH$ OrdZ àmßV H$aZo Ho$ {bE bmoH$V§Ì H$mo {H$Z Xmo eVm] H$mo nyam 
H$aZm Mm{hE ?  2 

5. Cg pñW{V H$m {díbofU H$s{OE {Og_| G U, G UH$Vm© H$mo Eogr pñW{V _| YHo$bVm h¡ {Oggo 
{ZH$bZm ~hþV H$ï>Xm`H$ hmoVm h¡ &  2 

IÊS> I  
                    (bKw-CÎmar` àíZ) (3 3=9) 

6. (H$) {díd ì`mnma g§JR>Z _| {dH$mgerb Xoem| Ho$ {bE hþB© MMm© H$s naI H$s{OE & 3 

 AWdm 

(I) ^maV _| {dXoer H§$n{Z`m| H$mo {Zdoe Ho$ {bE AmH${f©V H$aZo Ho$ {bE Ho$ÝÐ Am¡a amÁ` 
gaH$mam| Ûmam CR>mE JE H$X_m| H$m narjU H$s{OE & 3 

7. AdY {H$gmZ g§Kf© Ho$ EH$sH$aU Ho$ gmW Agh`moJ Am§XmobZ ì`mnH$ hmo J`m &  H$WZ 
H$s ì`m»`m VrZ VH$m] go H$s{OE &   3 

8. bmoH$V§Ì H$s AnZo {bE g_W©Z CËnÞ H$aZo H$s j_Vm ñd §̀ EH$ n[aUm_ hr h¡ Am¡a BgH$s 
AZXoIr Zht H$s Om gH$Vr &  Bg H$WZ H$m VrZ CXmhaUm| g{hV {díbofU H$s{OE &  3 

IÊS> J  
                    (XrK©-CÎmar` àíZ) (2 5=10) 

9. (H$) {díd^a H$s bmoH$Vm§{ÌH$ ì`dñWmAm| _| amOZr{VH$ Xb gd©ì`mnr hmo JE h¢ &  
CXmhaUm| g{hV H$WZ H$s ì`m»`m H$s{OE &  1 5=5 

 AWdm 

 (I) ^maV _| amOZr{VH$ Xbm| H$mo _µO~yV H$aZo Ho$ {bE H$B© gwYma {H$E JE h¢ Vm{H$ do 
AnZo H$m`m] H$mo AÀN>r Vah go H$a gH|$ &  CXmhaUm| g{hV H$WZ H$s ì`m»`m 
H$s{OE &  1 5=5 

10. (H$) gñVm Am¡a gm_Ï ©̀ Ho$ AZwHy$b H$µO© Xoe Ho$ {dH$mg Ho$ {bE A{V Amdí`H$ h¡ &  
Bg H$WZ H$s ì`m»`m H$s{OE &  1 5=5 

  AWdm 

 (I) ^maV _| ~¢H$m| Ho$ {d{^Þ H$m`m] H$mo ñnîQ>> H$s{OE &   1 5=5 
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4. Mention the two conditions that democracy must fulfil in order to achieve 
a harmonious social life.  2 

5. Analyse the situation in which credit pushes the borrower into a 
situation from which recovery is painful.  2 
 

SECTION B 

 (Short Answer Type Questions) (3 3=9) 

6. (a) Examine the debate that took place in the World Trade 
Organisation for the developing countries. 3 

 OR 

(b) Examine the steps taken by the Central and State governments to 
attract foreign companies to invest in India.  3 

7. -Cooperation Movement became wider with the integration of 
the Awadh Peasants S
arguments.  3 

8. 
 3 

SECTION C 
 (Long Answer Type Questions) (2 5=10) 

9. (a) 
 1 5=5 

 OR 

 (b) 
he statement with 

examples.   1 5=5 

10. (a) 
 1 5=5 

  OR 

(b) Explain various functions of banks in India.   1 5=5 
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IÊS> K  
                 (Ho$g-AmYm[aV àíZ) (2 4=8) 

11. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$ : 4 

     amï>́r` Vmn {dÚwVJ¥h H$m°anmoaoeZ (NTPC) Ûmam {XIm`m J`m _mJ©  

^maV _| amï>́r` Vmn {dÚwVJ¥h H$m°anmoaoeZ {dÚwV àXmZ H$aZo dmbm _w»` {ZJ_ h¡ & 
BgHo$ nmg n`m©daU à~§YZ V§Ì (EMS) 14001 Ho$ {bE AmB© Eg Amo (ISO) à_mU 
nÌ h¡ & `h {ZJ_ àmH¥${VH$ n`m©daU Am¡a g§gmYZ O¡go Ob, I{ZO Vob, J¡g VWm 
BªYZ g§ajU Zr{V H$m {h_m`Vr h¡ VWm BÝh| Ü`mZ _| aIH$a hr {dÚwV g§ §̀Ìm| H$s 
ñWmnZm H$aVm h¡ & 
Eogm {ZåZ Cnm`m| Ûmam g§^d h¡ :  
(H$) AmYw{ZH$V_ VH$ZrH$m| na AmYm[aV CnH$aUm| H$m ghr Cn`moJ H$aHo$ VWm 

{dÚ_mZ CnH$aUm| _| gwYma H$aHo$ & 
(I) A{YH$V_ amI H$m BñVo_mb H$a An{eï> nXmWm] H$m Ý ỳZ CËnmXZ H$aZm &  
(J) nm[apñW{VH$s g§VwbZ ~ZmE aIZo Ho$ {bE h[aV joÌ H$s gwajm VWm d¥jmamonU 

Ho$ {bE ào[aV H$aZm &  
(K) Vab An{eï> à~§YZ, amI- ẁº$ Obr` nwZM©H«$U VWm amI-g§J«h (Ash 

pond) à~§YZ Ûmam n`m©daU àXÿfU H$mo H$_ H$aZm &  
(L>) g^r D$Om© g§ §̀Ìm| H$m nm[apñW{VH$s` ê$n go _m°ZrQ>a VWm g_rjm H$aZm Ed§ 

 

(11.1) gVV nmofUr` {dH$mg  H$mo n[a^m{fV H$s{OE &  1 

(11.2) AmB©.Eg.Amo. (ISO) h¡ ?  1 

(11.3) amḯ>r` Vmn {dÚwVJ¥h H$m°anmoaoeZ (NTPC) Ho$ g{H«$` Ñ{ï>H$moU H$s naI H$s{OE &  2 

12. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$  ZrMo {XE JE àíZm| Ho$ CÎma {b{IE : 4 

        gm_y{hH$ AnZonZ H$s ^mdZm  

gm_y{hH$ AnZonZ H$s `h ^mdZm Am§{eH$ ê$n go g§̀ wº$ g§Kfm] Ho$ MbVo n¡Xm hþB© Wr & 
BZHo$ Abmdm ~hþV gmar gm§ñH¥${VH$ à{H«$`mE± ^r Wt {OZHo$ µO[aE amï´>dmX bmoJm| H$s 
H$ënZm Am¡a {Xbmo{X_mµJ na N>m J`m Wm & B{Vhmg d gm{hË`, bmoH$ H$WmE± d JrV, 
{MÌ d àVrH$, g^r Zo amḯ>dmX H$mo gmH$ma H$aZo _| AnZm `moJXmZ {X`m Wm & 

O¡gm {H$ Amn OmZVo h¢, amï>́ H$s nhMmZ g~go µÁ`mXm {H$gr Vgdra _| A§{H$V H$s 
 _| _XX {_bVr h¡ {OgHo$ µO[aE do amï>́ 

H$mo nhMmZ gH$Vo h¢ & ~rgdt gXr _| amï´>dmX Ho$ {dH$mg Ho$ gmW ^maV H$s nhMmZ ^r 
^maV _mVm H$s N>{d H$m ê$n boZo bJr & Bg N>{d Ho$ {Z_m©U H$m Ama§̂  ~§{H$_ MÝÐ  
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SECTION D 
 (Case-based questions) (2 4=8) 

11. Read the case given below carefully and answer the questions that follow : 4 

National Thermal Power Corporation (NTPC) shows the way  

 NTPC is a major power providing corporation in India. It has ISO 
certification for EMS (Environment Management System) 14001. The 
corporation has a proactive approach for preserving the natural 
environment and resources like water, oil, gas and fuels in places where 
it is setting up power plants.   

 This has been possible through : 

(a) Optimum utilisation of equipment adopting latest techniques and 
upgrading existing equipment.  

(b) Minimising waste generation by maximising ash utilisation.  

(c) Providing green belts for nurturing ecological balance and 
addressing the question of special purpose vehicles for 
afforestation.  

(d) Reducing environmental pollution through ash pond management, 
ash water recycling system and liquid waste management.  

(e) Ecological monitoring, reviews and online database management 
for all its power stations.  

(11.1)  1 

(11.2) What is the idea behind ISO certification ?  1 
(11.3) Examine the proactive approach of National Thermal Power 

Corporation (NTPC).  2 

12. Read the case given below carefully and answer the questions that follow : 4 
The Sense of Collective Belonging 

This sense of collective belonging came partly through the experience of 
united struggles. But there were also a variety of cultural processes 

fiction, folklore and songs, popular prints and symbols, all played a part 
in the making of nationalism.  
The identity of the nation, as you know, is most often symbolised in a 
figure or image. This helps create an image with which people can 
identify the nation. It was in the twentieth century, with the growth of 
nationalism, that the identity of India came to be visually associated 
with the image of Bharat Mata. The image was first created by Bankim 
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MÅ>monmÜ`m` Zo {H$`m Wm & 1870 Ho$ XeH$ _| CÝhm|Zo _mV¥ ŷ{_ H$s ñVw{V Ho$ ê$n _| 
dÝXo _mVa_²  JrV {bIm Wm & ~mX _| Bgo CÝhm|Zo AnZo CnÝ`mg  _| em{_b 
H$a {b`m & `h JrV ~§Jmb _| ñdXoer AmÝXmobZ _| Iy~ Jm`m J`m & ñdXoer Am§XmobZ 
H$s àoaUm go A~ZrÝÐZmW Q>¡Jmoa Zo ^maV _mVm H$s {d»`mV N>{d H$mo {M{ÌV {H$`m & 
Bg n|qQ>J _| ^maV _mVm H$mo EH$ g§Ý`m{gZr Ho$ ê$n _| Xem©`m J`m h¡ & dh em§V, 
J§̂ ra, X¡dr Am¡a AÜ`mpË_H$ JwUm| go ẁº$ {XImB© XoVr h¡ & AmJo Mb H$a O~ Bg 

~ZmZo bJo Vmo ^maV _mVm H$s N>{d {d{dY ê$n J«hU H$aVr JB© & Bg _mV¥ N>{d Ho$ 
à{V lÕm H$mo amḯ>dmX _| AmñWm H$m àVrH$ _mZm OmZo bJm &  

(12.1) amḯ>  bmoJm| Ho$ _pñVîH$ _| EH$ `WmW© H$m ê$n H¡$go boVm h¡ ? 1 

(12.2) amḯ>dmX Zo bmoJm| H$s H$ënZmAm| _| H¡$go ê$n {b`m ? 1 

(12.3) {d{^Þ g_wXm`m| Ho$ bmoJm| _| gm_y{hH$ AnZonZ H$m ^md {H$g àH$ma {dH${gV  
hþAm ?  2 

IÊS> L>  
             (_mZ{MÌ-AmYm[aV àíZ) (1+2=3) 
13. (i) {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 11 na), _| {ZåZ{b{IV OmZH$mar 

H$s ghm`Vm go 
ItMr JB© aoIm na CgH$m ghr Zm_ {b{IE &  
A. dh ñWmZ Ohm± O{b`m±dmbm ~mJ hË`mH$m±S> hþAm Wm &  1 

(ii) {XE JE ^maV Ho$ Bgr aoIm-_mZ{MÌ na {ZåZ{b{IV H$mo A§{H$V H$s{OE Am¡a CZHo$ 
Zm_ {b{IE & 
(H$) (I) qgJam¡br Vmnr` D$Om© g§̀ §Ì  1 

                                                  AWdm 
 (II)  1 
(I) H$mobH$mVm (ZoVmOr gw^mf M§Ð ~mog) A§Vam©ḯ>r` hdmB© nÎmZ  1 
 

: 13
 3  1=3

(13.1) Cg amÁ` H$m Zm_ {b{IE Ohm± O{b`m±dmbm ~mJ hË`mH$m±S> hþAm Wm &  1 

(13.2)  (H$) Cg amÁ` H$m Zm_ {b{IE Ohm± qgJam¡br Vmnr` D$Om© g§ §̀Ì pñWV h¡ & 1 
 AWdm 

 (I)  1 

(13.3) Cg amÁ` H$m Zm_ {b{IE Ohm± H$mobH$mVm (ZoVmOr gw^mf M§Ð ~mog) A§Vam©ï>́r` 
hdmB© nÎmZ pñWV h¡ &   1
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hymn to the motherland. Later it was included in his novel Anandamath 
and widely sung during the Swadeshi movement in Bengal. Moved by 
the Swadeshi movement, Abanindranath Tagore painted his famous 
image of Bharat Mata. In this painting, Bharat Mata is portrayed as an 
ascetic figure; she is calm, composed, divine and spiritual. In subsequent 
years, the image of Bharat Mata acquired many different forms, as it 
circulated in popular prints, and was painted by different artists. 

nationalism.  
(12.1) How did the  1 
(12.2)  1 
(12.3) How did people belonging to different groups develop a sense of 

collective belonging ?  2 
SECTION E 

      (Map-based question) (1+2=3) 
13. (i) On the given political outline map of India (on page 11), identify 

the place marked as A  with the help of the following information 
and write its correct name on the line marked near it. 
A. The place where Jallianwala Bagh massacre took place.  1 

(ii) On the same given map of India, locate and label the following : 
(a) (I) Singrauli Thermal Plant  1 

                                                OR 

 (II) Mumbai Software Technology Park  1 

(b) Kolkata (Netaji Subhash Chandra Bose) International 
Airport 1 

Note :  The following questions are for the Visually Impaired Candidates 
only, in lieu of Q. No. 13. 3 1=3 

(13.1) Name the State where Jallianwala Bagh massacre took place. 1  
(13.2) (a) Name the State where Singrauli Thermal Plant is located.  1 

 OR 
 (b) Name the State where Mumbai Software Technology Park is 

located.  1 
(13.3) Name the State where Kolkata (Netaji Subhash Chandra Bose) 

International Airport is located.   1 
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àíZ g§. 13 Ho$ {bE  For question no. 13 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 

 

A 
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  : 

(i) 

13  

(ii) 1 5 

2 40 

(iii) 6 8 

3 80 

(iv) 9 10 

5 120 

(v) 11 12 

4 

(vi) 13 - 3 

 13(a) 1 13(b) 

2 

(vii)

(viii)

I¥T H 

     (^htW N}Ry E¨Wc \of²¾) (5 2=10) 

1. gqWApJoqh ^pcy `hpW`p Jp£Zr Yy qeMpcp£ Yp ecV²¾ Hc} & 2 

2. OvR H\mp EYa}J Yy gph`Vy t̀§I qM¥Wpep£ ²¥¾v g\fR Hc} & 2 
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3. qBH qBHgtcWp epdp g`pqOH Ore²¾ \op\W Hc²¾ Yy dBr d}HW¥Wc ²¥¾v qHhmrAp£ 

Y} fcWp£ \vcrAp£ Hc²¾rAp£ h}VJrAp£ ? ecV²¾ Hc} & 2 

4. Eg hpdW Yp qefdyfV Hc} qOg qeM Hck, HckpBr ²¥¾v AOyhy hpdpW qeM 

Z§H YzYp h±, qOg qeM~ q²¾HdVp ^htW hr HfRYpaH ht¥Yp h± & 2 

5. hyS¾ qYWr gpcVr ²¥¾v \m}ª AWy qBgYy hyS¾ qYWy h}By \of²¾p£ Yy E¨Wc qdI} : 

_pcWr cyd Opd 

JyO `rRc qeM 
cvR 

(qH.`r.) 

Mpdv `pcJ 

(qH.`r.) 
Htd `pcJ 
(qH.`r.) 

eTr dpqB²¾ (1.676)  63,491  89,521 1,17,560 

`rRc dpqB²¾ (1.000)   3,200   3,462      3,775 

N}Rr dpqB²¾ (0.762 AWy 0.610)   1,751   1,752      1,901 

Htd 68,442 94,735 1,23,236 

(5.1) _pcW qeM \hpmr IyWcp£ qeM qHg JyO `pcJ (dpqB²¾) Yr d¥̂ pBr g_ 

W~ qkApYp h± ? 1 

(5.2) _pcW qeM qHg JyO (dpqB²¾) Yr d¥̂ pBr g_ W~ qkApYp h± ? 1 

I¥T I 

     (N}Ry E¨Wc \of²¾) (3 3=9) 

6. (a) qefe e\pc g¥JS¾²¾ qeM qeHpgfrd Yyfp£ Yy dBr h}Br ^hg Yr \cI 
Hc} & 3 

Op£ 

 (b) _pcW qeM qeYyfr H¥\²¾rAp£ ²¥¾v q²¾eyf Hc²¾ Yy dBr EWgpqhW Hc²¾ Yy 

dBr HzYc AWy cpO gcHpcp£ cphs Mt§Hy JBy HY`p£ Yp \crIV Hc} & 3 
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7. Yyf ²¥¾v qBH OtR Hc²¾ Yy dBr `hpW`p Jp£Zr ²¥¾v ²¾`H  qBH fHWrfpdr 
\oWrH (symbol) qYIpBr qY§Wp &  qBg HX²¾ Yr qW¥²¾ WcHp£ gqhW \tfRr  
Hc} & 3 

8. d}HW¥Wc Yr Ap\Vy dBr h`pqBW \±Yp Hc²¾ Yr g`c§Xp hr Ap\Vy Ap\ qeM 
qBH ²¾WrOp h± qOg ²¥¾v AVYyqIAp ²¾hs HrWp Op gHYp &  qBg HX²¾ Yp qW¥²¾ 
EYphcVp£ gqhW qegdyfV Hc} &  3 

I¥T J 

     (d¥̂ y E¨Wc \of²¾) (2 5=10) 

9. (a) g¥gpc _c YrAp£ d}HW¥Wcp£ qeegXpep£ qeM cpO²¾rqWH Yd 
gceqeAp\r h} JBy h²¾ &  EYphcV gqhW HX²¾ Yr qeApqIAp Hc} &  

   1 5=5 
Op£ 

 (b) _pcW qeM cpO²¾rqWH Ydp£ ²¥¾v `k^vW Hc²¾ Yy dBr HBr gtZpc HrWy 
JBy h²¾, Wp£ qH Eh Ap\Vy H¥̀ p£ ²¥¾v M¥Jr Wcp£ ²¾pd Hc gHV &   
EYphcV gqhW HX²¾ Yr qeApqIAp Hc} &  1 5=5 

10.  (a)  Ap\Vr ghpqBWp Ap\ Hc} g`vh  \zTv Jcr^p£ ²¥¾v qHez g¥JqS¾W HcV 
qeM `YY HcYy h²¾ ? EYphcVp£ gqhW qeApqIAp Hc} &  1 5=5 

Op£ 

 (b) G\MpqcH AWy A²¾G\MpqcH qcVYpWpep£ Yy Ycq`Ap²¾ qcV (EZpc) 
qHez Hp³r hY WH e§I ht¥Yp h± ? EYphcVp£ gqhW qeApqIAp Hc} &  1 5=5 

I¥T K 

     (Hyg-AZpqcW \of²¾) (2 4=8) 

11. hyS¾ qY§Wy JBy Hyg ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} : 4 
g`vhH A\Vy\²¾ Yr _pe²¾p 

g v̀hH A\Vy\²¾ Yr qBh _pe²¾p HtN Ht gp£Py g¥Kcfp£ Yy MdYy h}By \±Yp 
h}Br gr & qB²¾ªp£ W~ qBdpep ^htW gpcrAp£ gq_ApMpcH \oqHApcpep£ er 
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g²¾ qO²¾ªp£ Yy OcrBy cpfRcepY d}Hp£ Yr Hd\²¾p AWy qYd}qY`pJ E\c 
Np qJAp gr & qBqWhpg AWy gpqhW, d}H HXpep£ AWy JrW, qMWc 
AWy \oWrH, gpqcAp£ ²y¾ cpfRcepY ²¥¾v gpHpc Hc²¾ qeM Ap\Vp qhgp 
\pqBAp gr & 

qOez qH Wtgr OpVYy h}, cpfRc Yr \NpV g_ W~ qkApYp qHgy `vcW 

(Wgerc) qeM YcgpBr Op£Yr h± & qBg ²¾pd d}Hp£ ²¥¾v qBH AOyhy `vcW 

(Wgerc) ^V²¾ qeM `YY q`dYr h± qOg Yy kcrBy Eh cpfRc ²¥¾v 

\NpV gHYy h²¾ & erhes gYr qeM cpfRcepY Yy qeHpg Yy ²¾pd 

_pcW Yr \NpV er _pcW `pWp Yr `vcW (Wgerc) Yp cv\ d±V d§Jr & 

qBg `vcW (Wgerc) Yy q²¾c`pV Yp Ac¥_ ¥̂qH` M¥Yc M§R}\ZpBy ²y¾ 

HrWp gr & 1870 Yy YhpHy qeM E²¾ªp£ ²y¾ `pW-_v̀ r Yr EgWW qeM 

e¥Yy `pWc`  JrW qdqIAp gr & ^pY qeM qBg²¥¾v E²¾ªp£ ²y¾ Ap\Vy 

E\q²¾Apg (²¾ped) qeM fp`d Hc qdAp & qBh JrW 

^¥Jpd qeM geYyfr A¥Y}d²¾ qeM Iv̂  JpqBAp qJAp & geYyfr A¥Y}d²¾ 

Yr \oyc²¾p ²¾pd A^²¾sYc²¾pX R±J}c ²y¾ _pcW `pWp Yr `fhvc ApqHcWr 

²¥¾v qMWcW HrWp & qBg \zqR¥J qeM _pcW `pWp ²¥¾v qBH g¥q²¾Apg²¾r Yy 

cv\ qeM YcgpqBAp qJAp h± & Eh fp£W, J¥_rc, Y±er AWy 

AqZApWq`H (c§^r) JtVp£ Yr _cr qYIpBr YzYr h± & qBg W~ A§Jy, OY~ 

qBg ApqHcWr ²¥¾v e§Tr qJVWr qeM Wgercp£ qeM EWpqcAp OpV dJp 

AWy eI} eI HdpHpc qBh Wgerc ^²¾pV dJy Wp£ _pcW `pWp Yr 

ApqHcWr HBr eI} eIcy cv\ JoqhV HcYr JBr & qBg `pWp ApqHcWr 

Yy ed fcZp ²¥¾v cpfRcepY qeM ApgXp Yp \oWrH `¥q²¾Ap OpV d§Jp & 

(11.1) cpfRc  d}Hp£ Yy qY`pJ qeM qBH aXpcX cv\ qHez ^qVAp ? 1 

(11.2) cpfRcepY ²y¾ d}Hp£ YrAp£ Hd\²¾pep£ qeM qHh} qOhp cv\ qdAp ? 1 

(11.3) e§I} e§I g`vhp£ Yy d}Hp£ qeM g v̀hH A\Vy\²¾ Yp _pe qHez qeHqgW 

h}qBAp ?  2 
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12. hyS¾ qY§Wy JBy Hyg ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} : 4 

cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ (NTPC) cphs qYIpqBAp qJAp cph 

_pcW qeM cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ (NTPC) q^Odr YyV 

dBr `tI q²¾J` (Hpc\}cyf²¾) h± & qBgYy H}d epWpec²¾ \o ¥̂Z²¾ qggR` 

(EMS) 14001 Yy dBr ApBr.A±g.G. (ISO) \ò pV \Wc h± & qBh 

q²¾J` HtYcWr epWpec²¾ AWy g¥gpZ²¾ qOez qH \pVr, IpV Yy Wyd, J±g 

AWy BsZ²¾ (^pdV) gtcqIAV ²¾rWr Yp g`cXH h± AWy qB²¾ªp£ ²¥¾v 

qZAp²¾ qeM cIHy hr q^Odr Yy \dp£Rg ^Vp£Yp h± & 

AOyhp hyS¾ qdIy E\p HcHy hr g¥_e h± : 

(a) ApZtq²¾H WH²¾rHp£ E\c AZpqcW E\HcVp£ Yr ghr ecW~ HcHy 
AWy `¡OvY E\HcVp£ qeM gtZpc HcHy & 

(b) eZ W~ eZ cpI Yr ecW~ HcHy epZv \YpcX Yr KR~ KR  
\±Ypepc Hc²¾p & 

(c) \qcApec²¾H g¥Wtd²¾ ^VpBr cIV Yy dBr hqcApdy IyWc Yr 
gtcqIAp AWy O¥Jd ^²¾pEV Yy dBr \oyqcW Hc²¾p & 

(d) Wcd epZt \YpcXp£ Yp \o ¥̂Z²¾, cpI q`qdAp \pVr Yp t̀m 
ecWV a}J ^²¾pVp AWy cpI-g¥Joqh (Ash pond) \o ¥̂Z²¾ cphs 
epWpec²¾ \oYvfV ²¥¾v KR Hc²¾p & 

(e) gpcrAp£ FcOp g¥a¥Wcp£ Yp \qcApec²¾H cv\ ²¾pd `p§²¾rRc, 
g`rqIAp Hc²¾p AWy Ap²¾dpqB²¾ A¥HqmAp Yp \ô ¥Z²¾ Hc²¾p & 

(12.1) q²¾c¥Wc \}gVr qeHpg  ²¥¾v \qc_pqfW Hc} & 1 

(12.2) ApBr.A±g.G. (ISO) \ò pV Yy q\Ny Hr qeMpc h± ? 1 

(12.3) cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ (NTPC) Yy gMyW²¾ ²¾OcrBy Yr 
\cI Hc} & 2 
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I¥T L 
 (`p²¾qM§Wc-AZpqcW \of²¾) (1+2=3) 

13. (i) qYWy JBy _pcW Yy cpO²¾rWH cyIp `p²¾qM§Wc (\¥²¾p 9 Wy) E\c hyS¾ qdIr 
OpVHpcr Yr `YY ²¾pd  Yy cv\ qeM q²¾fp²¾ dJpBy JBy gXp²¾ Yr 
\NpV Hc} AWy Eg Yy ²¾kYrH qIMr dHrc (cyIp) E\c EgYp ghr 
²¾p` qdI} & 

 A. Eh gXp²¾ qOXy OqdAp£epdp ^pJ hqWApHp£T h}qBAp gr & 1 

 (ii) qYWy JBy _pcW Yy qBg hr cyIp `p²¾qM§Wc Wy hyS¾ qdqIAp£ ²¥¾v A¥qHW Hc} 
AWy EgYp ²¾p` qdI} & 

(a) (I) qg¥Jc}dr Wp\ EcOp g¥a¥Wc (\dp£R)  1 

                     Op£ 

 (II) `t¥̂ Br gp³Reyac RyH²}¾d}Or \pcH  1 

(b) H}dHpWp (²y¾WpOr gt_pf M¥Yc ^}g) A¥WccpfRcr hepBr A§Tp 1 

: 13 

3 1=3 

(13.1) Eg cpO Yp ²¾p` qdI} qOXy OqdAp£epdp ^pJ hqWApHp£T h}qBAp  
gr & 1 

(13.2) (a) Eg cpO Yp ²¾p` qdI} qOXy qg¥Jc}dr Wp\r FcOp g¥a¥Wc 
(\dp£R) gqXW h± & 1 

            Op£ 

 (b) Eg cpO Yp ²¾p` qdI} qOXy `t¥̂ Br gp³Reyac RyH²}¾d}Or \pcH 
gqXW h± &  1 

(13.3) Eg cpO Yp ²¾p` qdI} qOXy H}dHpWp (²y¾WpOr gt_pf M¥Yc }̂g) 
A¥WccpfRcr hepBr A§Tp gqXW h± & 1 
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\of²¾ g¥. 13 Yy dBr 

 

_pcW Yp cyIp `p²¾qM§Wc (cpO²¾rWH) 
Outline Map of India (Political) 

 

A 
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Candidates must write the Q.P. Code 
on the title page of the answer-book. 

 Series BQQPP/3  SET~2 

    Q.P. Code >       

Roll No. 
 
 

 
²}¾R / NOTE : 
(i) qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM N\y h}By 7 \¥²y¾ + 1 `p²¾qM§Wc h²¾ & 
 Please check that this question paper contains 7 printed pages + 1 Map. 

(ii) \of²¾ \§Wc qeM g§Oy h§X Yy ed qY§Wy JBy \of²¾ \§Wc H}T ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 
`t§I \¥²y¾ E\c qdIV & 

 Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 

(iii) qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM 13 \of²¾ h²¾ & 
 Please check that this question paper contains 13 questions. 

(iv) qHc\p HcHy \of²¾ Yp E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, E¨Wc \tgqWHp qeM \of²¾ Yp n`p£H 
(grqcAd ²¥¾^c) kcvc qd§I} & 

 Please write down the serial number of the question in the 
answer-book before attempting it. 

(v) qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc geycy 
10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ \§Wc ²¥¾v 
\mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hs qdIVJy & 

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 

g`pqOH qeqJAp²¾¾¾ 
(\¥Op^r EdXp) 

SOCIAL SCIENCE  
(Punjabi Version) 

: 2 : 40
Time allowed : 2 hours Maximum Marks : 40 

42/3/2 
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  : 

(i) 

13  

(ii) 1 5 

2 40 

(iii) 6 8 

3 80 

(iv) 9 10 

5 120 

(v) 11 12 

4 

(vi) 13 - 3 

 13(a) 1 13(b) 

2 

(vii)

(viii)

I¥T H 

     (^htW N}Ry E¨Wc \of²¾) (5 2=10) 

1. \qhdy qefe atZ Yy _pcWr AcXqeegXp E\c \±V epdy qHgy Y} \o_pep£ Yp 

ecV²¾ Hc} & 2 

2. Mr²¾r EYa}J  Yy gph`Vy qHgy Y} t̀§I MtV¡WrAp£ Yr \cI Hc} & 2 
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3. Eg hpdW Yp qefdyfV Hc} qOg qeM Hck, HckpBr ²¥¾v AOyhy hpdpW qeM 

Z§H YzYp h±, qOg qeM~ q²¾HdVp ^htW hr HfRYpaH ht¥Yp h± & 2 

4. qBH qBHgtcWp epdp g`pqOH Ore²¾ \op\W Hc²¾ Yy dBr d}HW¥Wc ²¥¾v qHhmrAp£ 

Y} fcWp£ \vcrAp£ Hc²¾rAp£ h}VJrAp£ ? ecV²¾ Hc} & 2 

5. hyS¾ qYWr gpcVr ²¥¾v \m}ª AWy qBgYy hyS¾ qYWy h}By \of²¾p£ Yy E¨Wc qdI} : 

_pcWr cyd Opd 

JyO `rRc qeM 
cvR 

(qH.`r.) 

Mpdv `pcJ 

(qH.`r.) 
Htd `pcJ 
(qH.`r.) 

eTr dpqB²¾ (1.676)  63,491  89,521 1,17,560 

`rRc dpqB²¾ (1.000)   3,200   3,462      3,775 

N}Rr dpqB²¾ (0.762 AWy 0.610)   1,751   1,752      1,901 

Htd 68,442 94,735 1,23,236 

(5.1) _pcW qeM \hpmr IyWcp£ qeM qHg JyO `pcJ (dpqB²¾) Yr d¥̂ pBr g_ 

W~ qkApYp h± ? 1 

(5.2) _pcW qeM qHg JyO (dpqB²¾) Yr d¥̂ pBr g_ W~ qkApYp h± ? 1 

I¥T I 

     (N}Ry E¨Wc \of²¾) (3 3=9) 

6. d}HW¥Wc Yr Ap\Vy dBr h`pqBW \±Yp Hc²¾ Yr g`c§Xp hr Ap\Vy Ap\ qeM 

qBH ²¾WrOp h± qOg ²¥¾v AVYyqIAp ²¾hs HrWp Op gHYp &  qBg HX²¾ Yp qW¥²¾ 

EYphcVp£ gqhW qegdyfV Hc} &  3 
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7. `hpW`p Jp£Zr ²y¾ qIdp³W A¥Y}d²¾ ²¾pd Otm Hy _pcW qeM eZycy qeAp\H 

AZpc epdp A¥Y}d²¾ MdpqBAp &  Agqha}J A¥Y}d²¾ Yy g¥Yc_ qeM qBg 

HX²¾ Yr qeApqIAp qHgy qW¥²¾ Ydrdp£ W~ Hc} & 3 

8. (a) qefe e\pc g¥JS¾²¾ qeM qeHpgfrd Yyfp£ Yy dBr h}Br ^hg Yr \cI 

Hc} & 3 

Op£ 

 (b) _pcW qeM qeYyfr H¥\²¾rAp£ ²¥¾v q²¾eyf Hc²¾ Yy dBr EWgpqhW Hc²¾ Yy 

dBr HzYc AWy cpO gcHpcp£ cphs Mt§Hy JBy HY`p£ Yp \crIV Hc} & 3 

 

I¥T J 

     (d¥̂ y E¨Wc \of²¾) (2 5=10) 

9. (a) g¥gpc _c YrAp£ d}HW¥Wcp£ qeegXpep£ qeM cpO²¾rqWH Yd 

gceqeAp\r h} JBy h²¾ &  EYphcV gqhW HX²¾ Yr qeApqIAp Hc} &  
   1 5=5 

Op£ 

 (b) _pcW qeM cpO²¾rqWH Ydp£ ²¥¾v `k^vW Hc²¾ Yy dBr HBr gtZpc HrWy 

JBy h²¾, Wp£ qH Eh Ap\Vy H¥̀ p£ ²¥¾v M¥Jr Wcp£ ²¾pd Hc gHV &   

EYphcV gqhW HX²¾ Yr qeApqIAp Hc} &  1 5=5 

10.  (a) qeHpg Yy dBr qcV (EZpc) Yr _vq`Hp ²¥¾v EYphcV gqhW g\fR  

Hc} &  1 5=5 

Op£ 

 (b) gpI (qcV) Yy E\MpqcH gc}W qHg Wcp£ A²¡¾\MpqcH gc}Wp£ ²¾pd~ e§I 

h²¾ ? EYphcV gqhW g\fR Hc} & 1 5=5 



  

 Page 5 42/3/2 

I¥T K 

     (Hyg-AZpqcW \of²¾) (2 4=8) 

11. hyS¾ qY§Wy JBy Hyg ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} : 4 

cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ (NTPC) cphs qYIpqBAp qJAp cph 

_pcW qeM cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ (NTPC) q^Odr YyV 
dBr `tI q²¾J` (Hpc\}cyf²¾) h± & qBgYy H}d epWpec²¾ \o ¥̂Z²¾ qggR` 
(EMS) 14001 Yy dBr ApBr.A±g.G. (ISO) \ò pV \Wc h± & qBh 
q²¾J` HtYcWr epWpec²¾ AWy g¥gpZ²¾ qOez qH \pVr, IpV Yy Wyd, J±g 
AWy BsZ²¾ (^pdV) gtcqIAV ²¾rWr Yp g`cXH h± AWy qB²¾ªp£ ²¥¾v 
qZAp²¾ qeM cIHy hr q^Odr Yy \dp£Rg ^Vp£Yp h± & 

AOyhp hyS¾ qdIy E\p HcHy hr g¥_e h± : 

(a) ApZtq²¾H WH²¾rHp£ E\c AZpqcW E\HcVp£ Yr ghr ecW~ HcHy 
AWy `¡OvY E\HcVp£ qeM gtZpc HcHy & 

(b) eZ W~ eZ cpI Yr ecW~ HcHy epZv \YpcX Yr KR~ KR  
\±Ypepc Hc²¾p & 

(c) \qcApec²¾H g¥Wtd²¾ ^VpBr cIV Yy dBr hqcApdy IyWc Yr 
gtcqIAp AWy O¥Jd ^²¾pEV Yy dBr \oyqcW Hc²¾p & 

(d) Wcd epZt \YpcXp£ Yp \o ¥̂Z²¾, cpI q`qdAp \pVr Yp t̀m 
ecWV a}J ^²¾pVp AWy cpI-g¥Joqh (Ash pond) \o ¥̂Z²¾ cphs 
epWpec²¾ \oYvfV ²¥¾v KR Hc²¾p & 

(e) gpcrAp£ FcOp g¥a¥Wcp£ Yp \qcApec²¾H cv\ ²¾pd `p§²¾rRc, 
g`rqIAp Hc²¾p AWy Ap²¾dpqB²¾ A¥HqmAp Yp \ô ¥Z²¾ Hc²¾p & 

(11.1) q²¾c¥Wc \}gVr qeHpg  ²¥¾v \qc_pqfW Hc} & 1 

(11.2) ApBr.A±g.G. (ISO) \ò pV Yy q\Ny Hr qeMpc h± ? 1 

(11.3) cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ (NTPC) Yy gMyW²¾ ²¾OcrBy Yr 
\cI Hc} & 2 
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12. hyS¾ qY§Wy JBy Hyg ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 
qd§I} : 4 

g`vhH A\Vy\²¾ Yr _pe²¾p 

g`vhH A\Vy\²¾ Yr qBh _pe²¾p HtN Ht gp£Py g¥Kcfp£ Yy MdYy h}By \±Yp 
h}Br gr & qB²¾ªp£ W~ qBdpep ^htW gpcrAp£ gq_ApMpcH \oqHApcpep£ er 
g²¾ qO²¾ªp£ Yy OcrBy cpfRcepY d}Hp£ Yr Hd\²¾p AWy qYd}qY`pJ E\c 
Np qJAp gr & qBqWhpg AWy gpqhW, d}H HXpep£ AWy JrW, qMWc 
AWy \oWrH, gpqcAp£ ²y¾ cpfRcepY ²¥¾v gpHpc Hc²¾ qeM Ap\Vp qhgp 
\pqBAp gr & 

qOez qH Wtgr OpVYy h}, cpfRc Yr \NpV g_ W~ qkApYp qHgy `vcW 
(Wgerc) qeM YcgpBr Op£Yr h± & qBg ²¾pd d}Hp£ ²¥¾v qBH AOyhy `vcW 
(Wgerc) ^V²¾ qeM `YY q`dYr h± qOg Yy kcrBy Eh cpfRc ²¥¾v 
\NpV gHYy h²¾ & erhes gYr qeM cpfRcepY Yy qeHpg Yy ²¾pd 
_pcW Yr \NpV er _pcW `pWp Yr `vcW (Wgerc) Yp cv\ d±V d§Jr & 
qBg `vcW (Wgerc) Yy q²¾c`pV Yp Ac¥_ ^¥qH` M¥Yc M§R}\ZpBy ²y¾ 
HrWp gr & 1870 Yy YhpHy qeM E²¾ªp£ ²y¾ `pW-_v̀ r Yr EgWW qeM 
e¥Yy `pWc`  JrW qdqIAp gr & ^pY qeM qBg²¥¾v E²¾ªp£ ²y¾ Ap\Vy 
E\q²¾Apg (²¾ped) qeM fp`d Hc qdAp & qBh JrW 
^¥Jpd qeM geYyfr A¥Y}d²¾ qeM Iv̂  JpqBAp qJAp & geYyfr A¥Y}d²¾ 
Yr \oyc²¾p ²¾pd A^²¾sYc²¾pX R±J}c ²y¾ _pcW `pWp Yr `fhvc ApqHcWr 
²¥¾v qMWcW HrWp & qBg \zqR¥J qeM _pcW `pWp ²¥¾v qBH g¥q²¾Apg²¾r Yy 
cv\ qeM YcgpqBAp qJAp h± & Eh fp£W, J¥_rc, Y±er AWy 
AqZApWq`H (c§^r) JtVp£ Yr _cr qYIpBr YzYr h± & qBg W~ A§Jy, OY~ 
qBg ApqHcWr ²¥¾v e§Tr qJVWr qeM Wgercp£ qeM EWpqcAp OpV dJp 
AWy eI} eI HdpHpc qBh Wgerc ^²¾pV dJy Wp£ _pcW `pWp Yr 
ApqHcWr HBr eI} eIcy cv\ JoqhV HcYr JBr & qBg `pWp ApqHcWr 
Yy ed fcZp ²¥¾v cpfRcepY qeM ApgXp Yp \oWrH `¥q²¾Ap OpV d§Jp & 

(12.1) cpfRc  d}Hp£ Yy qY`pJ qeM qBH aXpcX cv\ qHez ^qVAp ? 1 

(12.2) cpfRcepY ²y¾ d}Hp£ YrAp£ Hd\²¾pep£ qeM qHh} qOhp cv\ qdAp ? 1 

(12.3) e§I} e§I g`vhp£ Yy d}Hp£ qeM g v̀hH A\Vy\²¾ Yp _pe qHez qeHqgW 
h}qBAp ?  2 
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I¥T L 
 (`p²¾qM§Wc-AZpqcW \of²¾) (1+2=3) 

13. (i) qYWy JBy _pcW Yy cpO²¾rWH cyIp `p²¾qM§Wc (\¥²¾p 9 Wy) E\c hyS¾ qdIr 
OpVHpcr Yr `YY ²¾pd  Yy cv\ qeM q²¾fp²¾ dJpBy JBy gXp²¾ Yr 
\NpV Hc} AWy Eg Yy ²¾kYrH qIMr dHrc (cyIp) E\c EgYp ghr 
²¾p` qdI} & 

 A. Eh gXp²¾ qOXy OqdAp£epdp ^pJ hqWApHp£T h}qBAp gr & 1 

 (ii) qYWy JBy _pcW Yy qBg hr cyIp `p²¾qM§Wc Wy hyS¾ qdqIAp£ ²¥¾v A¥qHW Hc} 
AWy EgYp ²¾p` qdI} & 

(a) (I) qg¥Jc}dr Wp\ EcOp g¥a¥Wc (\dp£R)  1 

                     Op£ 

 (II) `t¥̂ Br gp³Reyac RyH²}¾d}Or \pcH  1 

(b) H}dHpWp (²y¾WpOr gt_pf M¥Yc ^}g) A¥WccpfRcr hepBr A§Tp 1 

: 13 

3 1=3 

(13.1) Eg cpO Yp ²¾p` qdI} qOXy OqdAp£epdp ^pJ hqWApHp£T h}qBAp  
gr & 1 

(13.2) (a) Eg cpO Yp ²¾p` qdI} qOXy qg¥Jc}dr Wp\r FcOp g¥a¥Wc 
(\dp£R) gqXW h± & 1 

            Op£ 

 (b) Eg cpO Yp ²¾p` qdI} qOXy `t¥̂ Br gp³Reyac RyH²}¾d}Or \pcH 
gqXW h± &  1 

(13.3) Eg cpO Yp ²¾p` qdI} qOXy H}dHpWp (²y¾WpOr gt_pf M¥Yc }̂g) 
A¥WccpfRcr hepBr A§Tp gqXW h± & 1 
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\of²¾ g¥. 13 Yy dBr 

 

_pcW Yp cyIp `p²¾qM§Wc (cpO²¾rWH) 
Outline Map of India (Political) 

 

A 
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Candidates must write the Q.P. Code 
on the title page of the answer-book. 

 Series BQQPP/3  SET~3 

    Q.P. Code >       

Roll No. 
 
 

 
²}¾R / NOTE : 
(i) qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM N\y h}By 7 \¥²y¾ + 1 `p²¾qM§Wc h²¾ & 
 Please check that this question paper contains 7 printed pages + 1 Map. 

(ii) \of²¾ \§Wc qeM g§Oy h§X Yy ed qY§Wy JBy \of²¾ \§Wc H}T ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 
`t§I \¥²y¾ E\c qdIV & 

 Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 

(iii) qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM 13 \of²¾ h²¾ & 
 Please check that this question paper contains 13 questions. 

(iv) qHc\p HcHy \of²¾ Yp E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, E¨Wc \tgqWHp qeM \of²¾ Yp n`p£H 
(grqcAd ²¥¾^c) kcvc qd§I} & 

 Please write down the serial number of the question in the 
answer-book before attempting it. 

(v) qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc geycy 
10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ \§Wc ²¥¾v 
\mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hs qdIVJy & 

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 

g`pqOH qeqJAp²¾¾¾ 
(\¥Op^r EdXp) 

SOCIAL SCIENCE  
(Punjabi Version) 

: 2 : 40
Time allowed : 2 hours Maximum Marks : 40 

42/3/3 
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 : 

(i) 

13  

(ii) 1 5 

2 40 

(iii) 6 8 

3 80 

(iv) 9 10 

5 120 

(v) 11 12 

4 

(vi) 13 3 

 13(a) 1 13(b) 

2 

(vii)

(viii)

I¥T H 

     (^htW N}Ry E¨Wc \of²¾) (5 2=10) 

1. 1920 Yy \qhdp£ qHgp²¾ ecJ Yy dBr `hpW`p Jp£Zr Yy Y} gqWApqJohp£ Yp 

ecV²¾ Hc} & 2 

2. d}hp AWy qBg\pW (gRrd) EYa}J Ap\Vr \vcr g`c§Xp Yy A²¾®gpc EW\pY²¾ 

qHE¤ ²¾hs Hc gqHAp h± ? EYphcV gqhW qeApqIAp Hc} & 2 
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3. hyS¾ qYWr gpcVr ²¥¾v \m}ª AWy qBgYy hyS¾ qYWy h}By \of²¾p£ Yy E¨Wc qdI} : 

_pcWr cyd Opd 

JyO `rRc qeM 
cvR 

(qH.`r.) 

Mpdv `pcJ 

(qH.`r.) 
Htd `pcJ 
(qH.`r.) 

eTr dpqB²¾ (1.676)  63,491  89,521 1,17,560 

`rRc dpqB²¾ (1.000)   3,200   3,462      3,775 

N}Rr dpqB²¾ (0.762 AWy 0.610)   1,751   1,752      1,901 

Htd 68,442 94,735 1,23,236 

(3.1) _pcW qeM \hpmr IyWcp£ qeM qHg JyO `pcJ (dpqB²¾) Yr d¥̂ pBr 
g_ W~ qkApYp h± ? 1 

(3.2) _pcW qeM qHg JyO (dpqB²¾) Yr d¥̂ pBr g_ W~ qkApYp h± ? 1 

4. qBH qBHgtcWp epdp g`pqOH Ore²¾ \op\W Hc²¾ Yy dBr d}HW¥Wc ²¥¾v qHhmrAp£ 

Y} fcWp£ \vcrAp£ Hc²¾rAp£ h}VJrAp£ ? ecV²¾ Hc} & 2 

5. Eg hpdW Yp qefdyfV Hc} qOg qeM Hck, HckpBr ²¥¾v AOyhy hpdpW qeM 

Z§H YzYp h±, qOg qeM~ q²¾HdVp ^htW hr HfRYpaH ht¥Yp h± & 2 

I¥T I 

     (N}Ry E¨Wc \of²¾) (3 3=9) 

6. (a) qefe e\pc g¥JS¾²¾ qeM qeHpgfrd Yyfp£ Yy dBr h}Br ^hg Yr \cI 
Hc} & 3 

Op£ 

 (b) _pcW qeM qeYyfr H¥\²¾rAp£ ²¥¾v q²¾eyf Hc²¾ Yy dBr EWgpqhW Hc²¾ Yy 

dBr HzYc AWy cpO gcHpcp£ cphs Mt§Hy JBy HY`p£ Yp \crIV Hc} & 3 
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7. AeZ qHgp²¾ g¥Kcf Yy ByHrHcV Yy ²¾pd Agqha}J A¥Y}d²¾ qeAp\H h} 

qJAp &  HX²¾ Yr qeApqIAp qW¥²¾ Ydrdp£ W~ Hc} & 3 

8. d}HW¥Wc Yr Ap\Vy dBr h`pqBW \±Yp Hc²¾ Yr g`c§Xp hr Ap\Vy Ap\ qeM 
qBH ²¾WrOp h± qOg ²¥¾v AVYyqIAp ²¾hs HrWp Op gHYp &  qBg HX²¾ Yp qW¥²¾ 
EYphcVp£ gqhW qegdyfV Hc} &  3 

I¥T J 

     (d¥̂ y E¨Wc \of²¾) (2 5=10) 

9. (a) g¥gpc _c YrAp£ d}HW¥Wcp£ qeegXpep£ qeM cpO²¾rqWH Yd 
gceqeAp\r h} JBy h²¾ &  EYphcV gqhW HX²¾ Yr qeApqIAp Hc} &  

   1 5=5 
Op£ 

 (b) _pcW qeM cpO²¾rqWH Ydp£ ²¥¾v `k^vW Hc²¾ Yy dBr HBr gtZpc HrWy 
JBy h²¾, Wp£ qH Eh Ap\Vy H¥̀ p£ ²¥¾v M¥Jr Wcp£ ²¾pd Hc gHV &   
EYphcV gqhW HX²¾ Yr qeApqIAp Hc} &  1 5=5 

10. (a) ggWp AWy g`c§Xp Yy A²¾®Hvd Hck Yyf Yy qeHpg Yy dBr 

`hWe\vc²¾ h± &  qBg HX²¾ Yr qeApqIAp Hc} & 1 5=5 

Op£ 

 (b) _pcW qeM ^|Hp£ Yy eI} eI H¥̀ p£ ²¥¾v g\fR Hc} & 1 5=5 

I¥T K 

     (Hyg-AZpqcW \of²¾) (2 4=8) 

11. hyS¾ qY§Wy JBy Hyg ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} : 4 

cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ (NTPC) cphs qYIpqBAp qJAp cph 

_pcW qeM cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ (NTPC) q^Odr YyV 

dBr `tI q²¾J` (Hpc\}cyf²¾) h± & qBgYy H}d epWpec²¾ \o ¥̂Z²¾ qggR` 
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(EMS) 14001 Yy dBr ApBr.A±g.G. (ISO) \ò pV \Wc h± & qBh 

q²¾J` HtYcWr epWpec²¾ AWy g¥gpZ²¾ qOez qH \pVr, IpV Yy Wyd, J±g 

AWy BsZ²¾ (^pdV) gtcqIAV ²¾rWr Yp g`cXH h± AWy qB²¾ªp£ ²¥¾v 

qZAp²¾ qeM cIHy hr q^Odr Yy \dp£Rg ^Vp£Yp h± & 

AOyhp hyS¾ qdIy E\p HcHy hr g¥_e h± : 

(a) ApZtq²¾H WH²¾rHp£ E\c AZpqcW E\HcVp£ Yr ghr ecW~ HcHy 

AWy `¡OvY E\HcVp£ qeM gtZpc HcHy & 

(b) eZ W~ eZ cpI Yr ecW~ HcHy epZv \YpcX Yr KR~ KR  

\±Ypepc Hc²¾p & 

(c) \qcApec²¾H g¥Wtd²¾ ^VpBr cIV Yy dBr hqcApdy IyWc Yr 

gtcqIAp AWy O¥Jd ^²¾pEV Yy dBr \oyqcW Hc²¾p & 

(d) Wcd epZt \YpcXp£ Yp \o ¥̂Z²¾, cpI q`qdAp \pVr Yp t̀m 

ecWV a}J ^²¾pVp AWy cpI-g¥Joqh (Ash pond) \o ¥̂Z²¾ cphs 

epWpec²¾ \oYvfV ²¥¾v KR Hc²¾p & 

(e) gpcrAp£ FcOp g¥a¥Wcp£ Yp \qcApec²¾H cv\ ²¾pd `p§²¾rRc, 

g`rqIAp Hc²¾p AWy Ap²¾dpqB²¾ A¥HqmAp Yp \ô ¥Z²¾ Hc²¾p & 

(11.1) q²¾c¥Wc \}gVr qeHpg  ²¥¾v \qc_pqfW Hc} & 1 

(11.2) ApBr.A±g.G. (ISO) \ò pV Yy q\Ny Hr qeMpc h± ? 1 

(11.3) cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ (NTPC) Yy gMyW²¾ ²¾OcrBy Yr 

\cI Hc} & 2 
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12. hyS¾ qY§Wy JBy Hyg ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 
qd§I} : 4 

g`vhH A\Vy\²¾ Yr _pe²¾p 

g`vhH A\Vy\²¾ Yr qBh _pe²¾p HtN Ht gp£Py g¥Kcfp£ Yy MdYy h}By \±Yp 
h}Br gr & qB²¾ªp£ W~ qBdpep ^htW gpcrAp£ gq_ApMpcH \oqHApcpep£ er 
g²¾ qO²¾ªp£ Yy OcrBy cpfRcepY d}Hp£ Yr Hd\²¾p AWy qYd}qY`pJ E\c 
Np qJAp gr & qBqWhpg AWy gpqhW, d}H HXpep£ AWy JrW, qMWc 
AWy \oWrH, gpqcAp£ ²y¾ cpfRcepY ²¥¾v gpHpc Hc²¾ qeM Ap\Vp qhgp 
\pqBAp gr & 

qOez qH Wtgr OpVYy h}, cpfRc Yr \NpV g_ W~ qkApYp qHgy `vcW 
(Wgerc) qeM YcgpBr Op£Yr h± & qBg ²¾pd d}Hp£ ²¥¾v qBH AOyhy `vcW 
(Wgerc) ^V²¾ qeM `YY q`dYr h± qOg Yy kcrBy Eh cpfRc ²¥¾v 
\NpV gHYy h²¾ & erhes gYr qeM cpfRcepY Yy qeHpg Yy ²¾pd 
_pcW Yr \NpV er _pcW `pWp Yr `vcW (Wgerc) Yp cv\ d±V d§Jr & 
qBg `vcW (Wgerc) Yy q²¾c`pV Yp Ac¥_ ^¥qH` M¥Yc M§R}\ZpBy ²y¾ 
HrWp gr & 1870 Yy YhpHy qeM E²¾ªp£ ²y¾ `pW-_v̀ r Yr EgWW qeM 
e¥Yy `pWc`  JrW qdqIAp gr & ^pY qeM qBg²¥¾v E²¾ªp£ ²y¾ Ap\Vy 
E\q²¾Apg (²¾ped) qeM fp`d Hc qdAp & qBh JrW 
^¥Jpd qeM geYyfr A¥Y}d²¾ qeM Iv̂  JpqBAp qJAp & geYyfr A¥Y}d²¾ 
Yr \oyc²¾p ²¾pd A^²¾sYc²¾pX R±J}c ²y¾ _pcW `pWp Yr `fhvc ApqHcWr 
²¥¾v qMWcW HrWp & qBg \zqR¥J qeM _pcW `pWp ²¥¾v qBH g¥q²¾Apg²¾r Yy 
cv\ qeM YcgpqBAp qJAp h± & Eh fp£W, J¥_rc, Y±er AWy 
AqZApWq`H (c§^r) JtVp£ Yr _cr qYIpBr YzYr h± & qBg W~ A§Jy, OY~ 
qBg ApqHcWr ²¥¾v e§Tr qJVWr qeM Wgercp£ qeM EWpqcAp OpV dJp 
AWy eI} eI HdpHpc qBh Wgerc ^²¾pV dJy Wp£ _pcW `pWp Yr 
ApqHcWr HBr eI} eIcy cv\ JoqhV HcYr JBr & qBg `pWp ApqHcWr 
Yy ed fcZp ²¥¾v cpfRcepY qeM ApgXp Yp \oWrH `¥q²¾Ap OpV d§Jp & 

(12.1) cpfRc  d}Hp£ Yy qY`pJ qeM qBH aXpcX cv\ qHez ^qVAp ? 1 

(12.2) cpfRcepY ²y¾ d}Hp£ YrAp£ Hd\²¾pep£ qeM qHh} qOhp cv\ qdAp ? 1 

(12.3) e§I} e§I g`vhp£ Yy d}Hp£ qeM g v̀hH A\Vy\²¾ Yp _pe qHez qeHqgW 
h}qBAp ?  2 
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I¥T L 
 (`p²¾qM§Wc-AZpqcW \of²¾) (1+2=3) 

13. (i) qYWy JBy _pcW Yy cpO²¾rWH cyIp `p²¾qM§Wc (\¥²¾p 9 Wy) E\c hyS¾ qdIr 
OpVHpcr Yr `YY ²¾pd  Yy cv\ qeM q²¾fp²¾ dJpBy JBy gXp²¾ Yr 
\NpV Hc} AWy Eg Yy ²¾kYrH qIMr dHrc (cyIp) E\c EgYp ghr 
²¾p` qdI} & 

 A. Eh gXp²¾ qOXy OqdAp£epdp ^pJ hqWApHp£T h}qBAp gr & 1 

(ii) qYWy JBy _pcW Yy qBg hr cyIp `p²¾qM§Wc Wy hyS¾ qdqIAp£ ²¥¾v A¥qHW Hc} 
AWy EgYp ²¾p` qdI} & 

(a) (I) qg¥Jc}dr Wp\ EcOp g¥a¥Wc (\dp£R)  1 

                     Op£ 

 (II) `t¥̂ Br gp³Reyac RyH²}¾d}Or \pcH  1 

(b) H}dHpWp (²y¾WpOr gt_pf M¥Yc ^}g) A¥WccpfRcr hepBr A§Tp 1 

: 13 

3 1=3 

(13.1) Eg cpO Yp ²¾p` qdI} qOXy OqdAp£epdp ^pJ hqWApHp£T h}qBAp  
gr & 1 

(13.2) (a) Eg cpO Yp ²¾p` qdI} qOXy qg¥Jc}dr Wp\r FcOp g¥a¥Wc 
(\dp£R) gqXW h± & 1 

                        Op£ 

 (b) Eg cpO Yp ²¾p` qdI} qOXy `t¥̂ Br gp³Reyac RyH²}¾d}Or \pcH 
gqXW h± &  1 

(13.3) Eg cpO Yp ²¾p` qdI} qOXy H}dHpWp (²y¾WpOr gt_pf M¥Yc }̂g) 
A¥WccpfRcr hepBr A§Tp gqXW h± & 1 
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\of²¾ g¥. 13 Yy dBr 

 

_pcW Yp cyIp `p²¾qM§Wc (cpO²¾rWH) 
Outline Map of India (Political) 
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